UGC NET 2021 Physical Education

Topic:- 47PhyEDU_A

1) The phrase “Immediate mundane aims” as practical idea belong to which philosophy?
(1) Existentialism (2) Metaphysics

3) Idealism (4) Pragmatism
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[Question ID = 4377][Question Description = Q01_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 16971]
2.2

[Option ID = 16972]
3.3

[Option ID = 16973]
4. 4

[Option ID = 16974]

2) Who received the “Olympic gold order” in 1983
(1) Indira Gandhi (2) Ashwani Kumar
3) V.C. Shukla (4) Vijay Kumar Malhotra
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1.1

[Option ID = 16975]
2.2

[Option ID = 16976]
3.3

[Option ID = 16977]
4. 4

[Option ID = 16978]

3) When the national sports policy came into existence?

(1) 1986 (2) 1992
(3) 2001 (4) 1984
W el Tl e Yoy SR ST
(1) 1986 (2y 1992
(3) 2001 (4) 1984

[Question ID = 4379][Question Description = Q03_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 16979]
2.2



[Option ID = 16980]
3.3

[Option ID = 16981]
4. 4

[Option ID = 16982]

4) In which following city, the Commonwealth Games were held twice?
(1) Delhi (2) Gold cost
3) Glasgow (4) Edinburgh
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[Option ID = 16983]
2.2

[Option ID = 16984]
3.3

[Option ID = 16985]
4. 4

[Option ID = 16986]

5) Many athletes using diuretics as an ergogenic aid but diuretics

(1) Increases fat free mass
(2) Increasing urine production and excretion
3) Decreasing urine production
(4) Increases body weight and fat mass
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1.1

[Option ID = 16987]
2.2

[Option ID = 16988]
3.3

[Option ID = 16989]
4. 4

[Option ID = 16990]
6) Stroke volume increases proportionately with increasing exercise intensity but usually achieves its maximal value at
about
(1)  30% - 40% of VO, max (2)  50% - 60% of VO, max
3) 70% to 80% of VO, max (4) 80% to 90% of VO, max
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(1) VO, max I 30% —40% (2) VO, max = 50% — 60%
(3) VO, max I 70% — 80% (4) VO, max = 80% — 90%
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1.1

[Option ID = 16991]
2.2

[Option ID = 16992]
3.3

[Option ID = 16993]
4. 4

[Option ID = 16994]
7) Women can experience major increases in strength as a result of resistance training and gains in strength may be
attributed more to
1) Hormonal factor (2) Neural factor

3) More Muscle mass (4) More fat mass
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1.1

[Option ID = 16995]
2.2

[Option ID = 16996]
3.3

[Option ID = 16997]
4. 4

[Option ID = 16998]

8) Of the following, which one is responsible for maintaining homeostasis by regulating almost all processes that affect the
body’s internal environment

(1) Hypothalamus (2) Thalamus
3) Cerebellum (4) Cerebrum
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[Option ID = 17000]
3.3

[Option ID = 17001]
4. 4

[Option ID = 17002]

9 i ;
) If P = force needed to overcome the friction and W= force holding the surface. then the

coefficient of friction x (mu) will be

P W
1 = 9 i
(1) =% 2 e
(3) u=WxP 4 wu=W+P
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(3) u=W=xP (4) u=W+P
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1. 1 [Option ID = 17003]
2. 2 [Option ID = 17004]

3. 3 [Option ID = 17005]
4. 4 [Option ID = 17006]

10) Which of following is not correct when body comes in push-up dip-position (Flexion of elbow) from normal position?
(1) Shoulder joing Horizontal abduction

(2) Wrists Reduction of hyperextension (flexion)

3) Shoulder Girdle Adbuction

(4) Hips flexors in static contraction

frferfierd d 6 o9 @1 %4 | 38 2 s v A= fafa & gu-om fe fefa (e smdaa) § s
27

(1) w4 Ef - afae vaes

(2)  wels — sreafos e (simeea) | s

(3)  SIFELINEA — UagayH

(@)  fae - fer dg=R d sg=n
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[Option ID = 17007]
2.2

[Option ID = 17008]
3.3

[Option ID = 17009]
4. 4

[Option ID = 17010]

11) How much force is needed to accelerate a 300 N object 2 m/s??
(1) 150 N (2) 30.61 N
(3) 61.22 N (4) 15.31 N
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[Option ID = 17011]
2.2

[Option ID = 17012]
3.3

[Option ID = 17013]
4. 4

[Option ID = 17014]

12) Which of the following muscle is not a primary respiratory muscle?
(1) Diaphragm (2) Transversus thoracis

3) Levatores costorum (4) Erector spinal
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[Question ID = 4388][Question Description = Q12_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17015]
2.2

[Option ID = 17016]
3.3

[Option ID = 17017]
4. 4

[Option ID = 17018]

13) Which type of imagery should be used to reduce athletes anxiety prior to a competition?
(1) Cognitive specific imagery (2) Motivational specific imagery

3) Motivational general imagery (4) Motivational general arousal
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1. 1

[Option ID = 17019]
2.2

[Option ID = 17020]
3.3

[Option ID = 17021]
4. 4

[Option ID = 17022]

14) Which type of goal depends not only on your own efforts but also on the ability and play of your opponent?
(1) Outcome goal (2) Performance goal

3) Process goal (4) Short term goal
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[Question ID = 4390][Question Description = Q14_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17023]
2.2

[Option ID = 17024]
3.3

[Option ID = 17025]
4. 4

[Option ID = 17026]

15) The most basic level of your personality is called as
1) The typical responses (2) Personality trait
3) The Role related bahaviour (4) The psychological core
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[Question ID = 4391][Question Description = Q15_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17027]
2.2

[Option ID = 17028]
3.3

[Option ID = 17029]
4. 4

[Option ID = 17030]

16) The social facilitation theory was formulated by

(1) Zajonc (2) Jerry Reynolds
3) Hoffman (4) Norman Triplett
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[Question ID = 4392][Question Description = Q16_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17031]
2.2

[Option ID = 17032]
3.3

[Option ID = 17033]
4. 4

[Option ID = 17034]

17) Which type of feedback is more effective for facilitating skill performance?
(1) Informative feedback (2) Positive feedback

3) Corrective feedback (4) Negative feedback
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[Question ID = 4393][Question Description = Q17_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17035]
2.2

[Option ID = 17036]
3.3

[Option ID = 17037]
4. 4

[Option ID = 17038]

18) Which is an advisory body for the central and State Governments on teacher education in India?
(1) UGC (2) ICMR
(3) NCTE (4) NCERT

U § %7 TR AN 759 TR 50 AETF WA F T2 ° SeEEn HEE FE-E1 2 7

—

P

(1) i, (2) @ d.eg, AT,

ot

(3) Az 4y  w e A

i



[Question ID = 4394][Question Description = Q18_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17039]
2.2

[Option ID = 17040]
3.3

[Option ID = 17041]
4. 4

[Option ID = 17042]

19) In the National Sports talent search scheme acronym PESAT stands for

(1) Physical, Efficiency, Sports, Aptitude, Tests

(2) Performance, Excellence, Sports, Attitude, Training

3) Physical, Education, Sports, Attitude, Time

(4) Physical, Efficiency, Sports, Aptitude, Training
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[Question ID = 4395][Question Description = Q19_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17043]
2.2

[Option ID = 17044]
3.3

[Option ID = 17045]
4. 4

[Option ID = 17046]

20) Which one of the following activity is not an open skill practice?
1) Volleyball spike (2) Free-throw in Basketball

3) Catching a throw ball (4) Tennis ground strokes
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[Question ID = 4396][Question Description = Q20_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17047]
2.2

[Option ID = 17048]
3.3

[Option ID = 17049]
4. 4

[Option ID = 17050]

21) Mostly CNS affecting viral disease is :
(1) Leprosy (2) Small Pox
3) Rabies (4) Covid-19
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[Question ID = 4397][Question Description = Q21_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17051]
2.2

[Option ID = 17052]
3.3

[Option ID = 17053]
4. 4

[Option ID = 17054]

22) Identify the symptom of disorder ‘Hypervitaminosis’ caused by excess Vitamin C as nutrient:
(1) Gastrointestinal disturbance

(2) Deposition of calcium in soft tissues

3) Stone formation in urinary tract

(4) Nervous system depressed
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[Question ID = 4398][Question Description = Q22_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17055]
2.2

[Option ID = 17056]
3.3

[Option ID = 17057]
4. 4

[Option ID = 17058]

23) Which of the following is not passive immunity?
1) Humoral immunity (2) Normal human Ig

3) Specific human Ig (4) Animal antitoxins or antisera
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[Question ID = 4399][Question Description = Q23_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17059]
2.2

[Option ID = 17060]
3.3

[Option ID = 17061]
4. 4

[Option ID = 17062]

24) Which of the water pollutant is a source of water borne diseases like cholera?
(1) Animal waste (2) Fertilizers

(3) Sewage (4) Mercury
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[Question ID = 4400][Question Description = Q24_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17063]
2.2

[Option ID = 17064]
3.3

[Option ID = 17065]
4. 4

[Option ID = 17066]

25) ldentify the appropriate intensity zone for strength training of an althlete :
1) Sub-Maximal - 50-70% of maximum

(2) Low - 50-60% of maximum

3) Medium - 70-80% of maximum

(4) Maximum - 80-90% of maximum
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1.1

[Option ID = 17067]
2.2

[Option ID = 17068]
3.3

[Option ID = 17069]
4. 4

[Option ID = 17070]

26) The factor which is not considered as determining the endurance ability

1) Aerobic capacity (2) Phosphogen store
3) Technical perfection (4) Tactical ability
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[Question ID = 4402][Question Description = Q26_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17071]
2.2

[Option ID = 17072]
3.3

[Option ID = 17073]
4. 4

[Option ID = 17074]

27) Which of the following is concerned with shoulder width?
(1) Bicondylar diameter

(2) Bicristal diameter



3) Biacromial diameter

(4) Bitrochantric diameter
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[Question ID = 4403][Question Description = Q27_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17075]
2.2

[Option ID = 17076]
3.3

[Option ID = 17077]
4. 4

[Option ID = 17078]

28) The highest level of intrinsic motivation is known as
(1) Flow (2) Peaking
3) Self confidence (4) Mastry
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[Question ID = 4404][Question Description = Q28_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17079]
2.2

[Option ID = 17080]
3.3

[Option ID = 17081]
4. 4

[Option ID = 17082]

29 .. . . . .
) In least significant differenece (LSD) test the critical difference (CD) is calculated by

[ ' s
M‘% @)  CD=togs (errordf) ‘J%
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(3) CD =i 5 (error d.f)
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[Question ID = 4405][Question Description = Q29_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1 [Option ID = 17083]
2. 2 [Option ID = 17084]
3. 3 [Option ID = 17085]
4. 4 [Option ID = 17086]
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30) Which of the following is not correct about quota sampling?



(1) It is non-probability sample
(2) It is subjective
3) It is based on the experiance of researcher

(4) It is objective
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[Question ID = 4406][Question Description = Q30_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17087]
2.2

[Option ID = 17088]
3.3

[Option ID = 17089]
4. 4

[Option ID = 17090]

31) If mean of the experimental group is 15, mean of control group is 12 and standard deviation of the control group is 5
then the effect size (A) will be

(1 5.4 (2) 0.60
(3) 1.2 (4) 0.40
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[Question ID = 4407][Question Description = Q31_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17091]
2.2

[Option ID = 17092]
3.3

[Option ID = 17093]
4. 4

[Option ID = 17094]

32) If r-represent the correlation coefficient between age and weight and N is the number of subjects. The calculated
value of r = 0.510 and N = 15. The table value of r under column 0.05 is 0.514 and 0.01 is 0.561 for N - 2(=13)df. Then
which of the following will be correct?

(1) There is a siginificant correlation between age and weight at 0.01 level
(2) There is a significant correlation between age and weight at 0.05 level
(3) There is no significant correlation between age and weight

(4) Null hypothesis is rejected

Afe ¢ 377 3N g4 = = gesEy s %1 afaHie #5323 N gen 2) ¢ #1 fteferd o9 = 0.510 3
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[Question ID = 4408][Question Description = Q32_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17095]
2.2

[Option ID = 17096]
3.3

[Option ID = 17097]
4. 4

[Option ID = 17098]

33) If r=0.65. then the reliability of the whole test using Spearman Brown prophecy formula

will be :
(1) 0.781 (2 0.778
(3) 0.798 (4) 0.788
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()  0.781 (2 0.778

(3) 0.798 (4)  0.788

[Question ID = 4409][Question Description = Q33_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1 [Option ID = 17099]
2. 2 [Option ID = 17100]
3. 3 [Option ID = 17101]
4. 4 [Option ID = 17102]

34) Which is not an item of Poole Badminton test?

1) Forehand clear test (2)  Smash test

(3) Backhand clear test (4) Long serve test
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[Question ID = 4410][Question Description = Q34_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17103]
2.2

[Option ID = 17104]
3.3

[Option ID = 17105]
4. 4

[Option ID = 17106]

35) A subject completed the exercise period of 5 minutes in harvard step test. His recovery period pulse count were : 75
for 1-1 %2 minutes, 50 for 2-2% minutes and 35 for 3-3%2 minutes. Physical Efficiency Index (PEIl) of the subject for long
form of the harvard step test will be :

(1) 94 (2) 95
(3) 93 (4) 84
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feru safda i siifer 2 = (PEI) frafi 2nfi|

1) 94 @ 95

(3) 93 (4) 84

[Question ID = 4411][Question Description = Q35_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17107]
2.2

[Option ID = 17108]
3.3

[Option ID = 17109]
4. 4

[Option ID = 17110]

36) Which is not an item of SAlI badminton skill test?
(1) Badminton Shuttle Run

(2) Standing Backward Jump

3) Standing Broad Jump

(4) Tennis Ball Throw
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[Question ID = 4412][Question Description = Q36_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17111]
2.2

[Option ID = 17112]
3.3

[Option ID = 17113]
4. 4

[Option ID = 17114]

37) Petty cash is synonymous to which of the following funds?
(1) Discretionary funds (2) Contingency funds

3) Revolving funds (4) Sinking funds
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[Question ID = 4413][Question Description = Q37_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17115]
2.2

[Option ID = 17116]
3.3

[Option ID = 17117]
4. 4

[Option ID = 17118]

38) Which type of administration is also known as ‘paternalistic’?



(1) Laissez-faire (2) Ecletic

3) Autocratic (4) Anarchic
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[Question ID = 4414][Question Description = Q38_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17119]
2.2

[Option ID = 17120]
3.3

[Option ID = 17121]
4. 4

[Option ID = 17122]

39) Who developed the scientific management theory?
(1) Elton Mayo
(2) Max Weber
3) F.W. Taylor

(4) Henary Fayol
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[Question ID = 4415][Question Description = Q39_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17123]
2.2

[Option ID = 17124]
3.3

[Option ID = 17125]
4. 4

[Option ID = 17126]

40) What will the total number of matches, if in a league cum knockout tournament of 16 teams which initially played in 4
groups of four, where all teams in a given group play league matches? Top two teams from each group qualify for knockout
stage and losing semi-finalist also play to decide for 3rd and 4th place

1y 32
(2 31
(3) 30
(4) 33
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(4) 33
[Question ID = 4416][Question Description = Q40_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17127]
2.2

[Option ID = 17128]
3.3

[Option ID = 17129]
4. 4

[Option ID = 17130]
41) In Greece mythology of Ancient Olympics, which relationship of God zeus with Hera is correct?

(A) Wife

(B) Sister

(C) Daughter

(D) Newphew

Choose the correct answer from the options given below:
1) (A) and (B) only

(2) (B) and (C) only

3) (C) and (D) only

(4) (D) and (A) only
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[Question ID = 4417][Question Description = Q41_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17131]
2.2

[Option ID = 17132]
3.3

[Option ID = 17133]
4. 4

[Option ID = 17134]
42) Philosophy consists of followings :
(A) Axiology

(B) Ethics
(C) Aesthetics



(D) Theology

Choose the correct answer from the options given below:
(1) (A), (C) and (D) only
(2) (B), (C) and (D) only
3) (D), (B) and (A) only
(4) (A), (B) and (C) only
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[Question ID = 4418][Question Description = Q42_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17135]
2.2

[Option ID = 17136]
3.3

[Option ID = 17137]
4. 4

[Option ID = 17138]
43) Energy expenditure can be measured by indirect calorimetry, involves measuring

(A) Heat produced by the body
(B) Oxidative enzyme levels
(C) Oxygen consumption

(D) Carbondioxide production
(E) Respiratory exchange ratio

Choose the correct answer from the options given below:
(1) (A), (C), (E) only
(2)  (B), (D), (E) only
(3)  (A), (B), (C) only
(4)  (C), (D), (E) only
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[Question ID = 4419][Question Description = Q43_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17139]
2.2

[Option ID = 17140]
3.3

[Option ID = 17141]
4. 4

[Option ID = 17142]

44) . : : : — : .
The decrease 1n VO, max with aging and 1nactivity 1s largely explained by decrease 1in

(A)  Total lung capacity

(B) Maximum heart rate

(C)  Arterial mixed venous oxygen difference
(D) Lactate threshold

(E) Maximal stroke volume

Choose the correct answer from the options given below:

(1)  (B).(C). (E) only
(2)  (A). (B). (D) only
(3)  (B)., D). (E) only
(49 (A). (C). (E) only
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[Question ID = 4420][Question Description = Q44_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1 [Option ID = 17143]
2. 2 [Option ID = 17144]

3. 3 [Option ID = 17145]
4. 4 [Option ID = 17146]

45 ;
) Women generally have lower VO, max (ml/Kg/min) than men. Rezearch reveals that part

of this difference 1s attributed to

(A) Higher heart rate

(B) Higher lactate threashold
(C) Higher fat mass

(D) Lower hemoglobin

(E)  Lower cardiac out-put

Choose the correct answer from the options given below:

(1) (A). (B). (C) only
(2)  (B). (C). (D) only
(3 (C). (D). (E) only
4 (A). (D). (E) only
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(3)  %de (C), (D), (B)
(4)  Fad (A). (D). (E)

[Question ID = 4421][Question Description = Q45_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1 [Option ID = 17147]
2. 2 [Option ID = 17148]
3. 3 [Option ID = 17149]
4. 4 [Option ID = 17150]



46) Which of the following are the characteristics of synarthrosis joint?

(A) They are cartilaginous type

(B) They are fibrous type

(C) They are ligamentous type

(D) They have joint capsule

(E) They have no articular cavity

Choose the correct answer from the options given below:
M (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (A), (B), (C) and (E) only

(4) (A), (D) and (E) only
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[Question ID = 4422][Question Description = Q46_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17151]
2.2

[Option ID = 17152]
3.3

[Option ID = 17153]
4. 4

[Option ID = 17154]
47) Which of the following are correct?

(A) Lifting the foot and leg backward from the knee is known as flexion
(B) Radial and ulnar flexion is also known as lateral flexion

(C) Circumduction is done only at siggital axis and frontal plane

(D) Median plane divides the body into posterior and anterior halves
Choose the correct answer from the options given below:

(1) (A), (B) and (C) only

(2) (A) and (B) only

3) (B), (C) and (D) only

(4) (A), (C) and (D) only
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[Question ID = 4423][Question Description = Q47_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17155]
2.2

[Option ID = 17156]
3.3

[Option ID = 17157]
4. 4

[Option ID = 17158]
48) Which of the following are characteristics of Diarthrosis joints?

(A) An articular cavity is present

(B) Joint is encased with in a sleeve-like ligamentous capsule

(C) The articulating surfaces are covered with white fibro-cartilage
(D) The articulating surfaces are smooth

(E) Synovial membrane secretes synovial fluid is present

Choose the correct answer from the options given below:

(1) (A), (B), (C) and (D) only

(2) (A), (B), (C) and (E) only

(3) (A), (B), (D) and (E) only

(4) (B), (C), (D) and (E) only
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(2) == (A). (B). (C) 31k (E)
(3) == (A). (B). (D) 31 (E)
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[Question ID = 4424][Question Description = Q48_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17159]
2.2

[Option ID = 17160]
3.3

[Option ID = 17161]
4. 4

[Option ID = 17162]
49) When we experiment with a new behaviour, the possible out comes are

(A) Positive reinforcement

(B) Negative reinforcement

(C) Vicarious reinforcement

(D) A neutral response

(E) Punishment

Choose the correct answer from the options given below:
(1) (A), (B), (D) and (E) only

(2) (A), (B), (C) and (D) only

3) (A), (B) and (C) only

(4) (A), (B) and (D) only
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[Question ID = 4425][Question Description = Q49_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17163]
2.2

[Option ID = 17164]
3.3

[Option ID = 17165]
4. 4



[Option ID = 17166]
50) Which of the following theories are part of group development?

(A) Linear theory

(B) Cyclical theory

(C) Pendular theory

(D) Non linear theroy

(E) Triangle theroy

Choose the correct answer from the options given below:
(1 (A), (B), (D) and (E) only

(2) (A), (B) and (C) only

(3) (B), (C) and (D) only

(4) (A), (B), (C) and (E) only
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[Question ID = 4426][Question Description = Q50_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17167]
2.2

[Option ID = 17168]
3.3

[Option ID = 17169]
4. 4

[Option ID = 17170]
51) Which of the following are not a functions of NCTE

(A) Undertaking surveys and studies relating to various aspects of teacher education and publish the result thereof

(B) Recruiting qualified staff in the teacher education institutions

(C) Co-ordinating and monitoring teacher education and its development in the country

(D) Laying down norms for any specified category of courses or trainings in teacher education

(E) Creating job opportunities for the students who have completed teacher education programmes in the NCTE recognised
institutions

Choose the correct answer from the options given below:
(1) (A) and (E) only
(2) (C) and (D) only
3) (B) and (E) only



(4) (A) and (B) only
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[Question ID = 4427][Question Description = Q51_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17171]
2.2

[Option ID = 17172]
3.3

[Option ID = 17173]
4. 4

[Option ID = 17174]

52) The contents for developing curriculum involves

(A) The dynamics of change

(B) Education trends

(C) Values and myths

(D) Philosophical view points

(E) Curriculum issues

Choose the correct answer from the options given below:

(1) (A), (B), (D) and (E) only
(2) (A), (B) and (E) only

(3) (B), (C) and (E) only

(4)  (B), (C) (D) and (E) only
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(2)  *FE (A), (B) 3l (E)
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[Question ID = 4428][Question Description = Q52_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17175]
2.2

[Option ID = 17176]
3.3

[Option ID = 17177]
4. 4

[Option ID = 17178]

53) Which of the followings are correct?

(A) Vitamin A and D are stored beyond certain limit, can reach toxic level
(B) Calcium and sodium are called major mineral

(C) Zinc and lodine are called trace mineral

(D) Riboflavin and Thiamin are fat solube

Choose the correct answer from the options given below:

M (A), (B) and (C) only

(2) (A), (C) and (D) only

3) (A) and (B) only

(4) (B), (C) and (D) only
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[Question ID = 4429][Question Description = Q53_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17179]
2.2

[Option ID = 17180]
3.3

[Option ID = 17181]
4. 4



[Option ID = 17182]

54) From the list of following diseases, identify which are linked to obesity

(A) Cancer

(B) AIDS

(C) Diabetes

(D) Osteoarthritis
(E) Hepatitis

Choose the correct answer from the options given below:
(1) (A), (B), (E) only

(2)  (B), (C) only

(3)  (B), (D), (E) only

4)  (A), (C), (D) only
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[Question ID = 4430][Question Description = Q54_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17183]
2.2

[Option ID = 17184]
3.3

[Option ID = 17185]
4. 4

[Option ID = 17186]

55) Which of the following are correct

(A) Insulin-dependent diabetes - pancreas cannot secrete adequate amounts of insulin

(B) Diabetes mellitus - body unable to metabolize glucose

(C) Non-insulin dependent diabetes - adequate number of insulin - receptor sites in cells to absorb glucose
(D) Peptic ulcer - repeated over secration of gastic acids

Choose the correct answer from the options given below:
(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
3) (B, (C)) and (D) only



(4)  (B)and (D) only
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[Question ID = 4431][Question Description = Q55_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17187]
2.2

[Option ID = 17188]
3.3

[Option ID = 17189]
4. 4

[Option ID = 17190]
56) Competitions may be classified on the basis of certain criteria like :
(A) Place of competition
(B) Level of competition
(C) Mode of organising competition
(D) Training methodical aspect of competition

(E) Dates of competition
Choose the correct answer from the options given below:
1M (A), (B), (C) only
(2) (B), (C), (D) only
(3) (C), (D), (A) only
(4) (D), (A), (E) only
ufeaifiraist 1 Frefofiga amds + snar W Ffigd e s s 2
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[Question ID = 4432][Question Description = Q56_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17191]
2.2

[Option ID = 17192]
3.3

[Option ID = 17193]
4. 4

[Option ID = 17194]
57) There may be different types of meso-cycle training programmes used in sports training in general like:-

(A) Introductory meso - cycle
(B) Preparatory meso - cylce
(C) Pre - competition meso - cycle
(D) After competition meso - cycle
(E) Pre - introductory meso - cycle

Choose the correct answer from the options given below:
(1) (A), (B), (C) only
(2) (A), (C), (E) only
(3)  (A), (C), (D) only
(4)  (C), (D). (E) only
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[Question ID = 4433][Question Description = Q57_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17195]
2.2

[Option ID = 17196]
3.3



[Option ID = 17197]
4. 4

[Option ID = 17198]

58) An I.Q. test was Given to a group of students. The mean score was 66.34, median 70.34 and standard deviation was
9.67. On the basis of given result which of the following are correct?

(A) The test is easy for the student

(B) The test is difficult for the student

(C) The distribution will be positively skewed

(D) The distribution will be negative skewed

Choose the correct answer from the options given below:
1) (A) and (D) only

(2) (B) and (C) only

3) (A) and (C) only

(4) (B) and (D) only

Bl & Uh HYE hl AE.HY, T &l T ET 37H 66.34 A, WA 376 70.34 A 3N gHS fa=e
9.67 = feu mu wfm % sman o frefafigs O @ S0 0 6 82

(A)  ¥8 vien sl & fau smaE 2
(B) =2 9lizn w11 & fou & 2)
(C)  ferem gemmrenss B9 § O B0

(D) T Fmreds €9 § 3009 850

< fou o fgshed § | HaH I9gH I 1 954 HifA

(1)  ad (A) 30T (D)
(2) %94 (B) 3 (O)
(38)  wAd (A) 3T (C)

(49 %dd (B) 3l (D)
[Question ID = 4434][Question Description = Q58_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17199]
2.2

[Option ID = 17200]
3.3

[Option ID = 17201]
4. 4

[Option ID = 17202]

59) Which of the following are correct?

(A) Descriptive research is concerned with status and most prevalent technique in survey

(B) Qualitative research is characterised by intensive first hand presence and data is conducted through observation and
interviews

(C) Analytical research involves in-depth study and evalaution in an attempt to explain complex phenomena

(D) Epidemiological research is form of experimental research

Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (A), (B) and (D) only



(3) (B), (C) and (D) only
(4) (A), (B) and (C) only

freafeafgs 9 @ =iA-9 =00 @ 27
(A)  TUHTEHEF ATEE T H FeEiOd 261 2 A FEEE T=ied [ wha 2

(B)  TUNTEE SEUH I EOAT TE Teas SUEdtd Bl 2 W SRSt i Fhe UE S JEEE §

T | T S 2

(C)  faweiaomeee AqEGM o TE @O 3 e G 61 2 AT See uel i wee e S|

(D) HEME HEE FEd SEaE, TETE SEaE F T 2

= fau o frpedi § O weE I9gEd I B =E FAw

(1) = (A) 5° (B)

(2) e (A), (B) 3 (D)
(3) == (B). (C) ¥R (D)
(4)  Fa9 (A). (B) 3 (O)

[Question ID = 4435][Question Description = Q59_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17203]
2.2

[Option ID = 17204]
3.3

[Option ID = 17205]
4. 4

[Option ID = 17206]

60)
If quartile deviation of a distribution is 6.00. Py; =50 and Pj; =10. then distribution curve

will be

(A) Platy kurtic

(B) Leptokurtic

(C) Normal

(D) Value of Ky = 0.263

(E) Value of Ky =0.15

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (B) and (E) only
(3) (A) and (E) only
(4) (C) and (D) only

us faan 1 9q2ie faaeq 3fe 6.00 2, Py =50 311 Py, =10 2 1 faawn g &0

(A) il Fis
(B) IRIHES

Fir™ T =1



S oo

(D) Ky &1 9H = 0.263

(E) Ky #19A=0.15

< fau T faehedi O | HEH I9gF I 1 959 hiAU

(1) %49 (4) 3i (D)
(2) %9 (B) 3 (E)
(3)  Had (A) 3 (B)
(4) %49 (C) 31t (D)

[Question ID = 4436][Question Description = Q60_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1 [Option ID = 17207]
2. 2 [Option ID = 17208]
3. 3 [Option ID = 17209]
4. 4 [Option ID = 17210]

61) Which of the following statements are correct regarding the Sports Motivation Scale (SMS) by R.J. Vallerand and L.G.
Pelletier etc. (1995)

(A) Scale consist of 28 items
(B) Scale comparised of intrinsic motivation as a sub-scale
(C) Scale has 5 point likert scale

(D) Amotivation is one of the sub scale

Choose the correct answer from the options given below:
(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
3) (A), (B) and (D) only
(4) (A), (C) and (D) only

A, deiig 3R ue S Uerfem srfe (1995) g1 detge woon dHr1 (SMS) % Hay H fiafefaa 4 4
HH H HUA FE Al

(A) U9 d 289 B 21

(B) M 4 3 Tom 39-THH & €9 9 & 2

(C)  Tur H 5 vige forhe w@hal 2 2

(D)  wHIfEyH U I9-THE R

fr= Teu v faeedl § 8 |98 I &1 999 Fifdu .

(1)  Faa (A). B) #l (C)
(2)  %da (B), (C) 31 (D)
(3)  *Ed (A), (B) 3R (D)

(49 %4 (A). (C) 3R (D)

[Question ID = 4437][Question Description = Q61_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17211]
2.2

[Option ID = 17212]



3.3
[Option ID = 17213]
4. 4
[Option ID = 17214]
62) Which of the following are the items of Chang badminton test?
(A) Long serve
(B) Overhead Drop Shot
(C) Smash
(D) Strategy

Choose the correct answer from the options given below:
(1) (A), (B) and (D) only

(2) (A) and (C) only

3) (A), (C) and (D) only

(4) (A), (B) and (C) only

< Aefifen whiem % we ffafiga § 4 #R-8 #7
@A) @ He

B)  FEES 3 Wi

(C) Hm

(D) w&A ()

4= feu o fawedi 4 9 o 39 &1 999 Fifu .

(1)  *9e (A), (B) 3 (D)
(2)  *Ed (A) 3 (C)

(3  *9 (A), (C) 3N (D)
(4 HEd (A), (B) 3T (C)

[Question ID = 4438][Question Description = Q62_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17215]
2.2

[Option ID = 17216]
3.3

[Option ID = 17217]
4. 4

[Option ID = 17218]

63) Which of the following statements are correct regarding achievement motivation questionnarie by M.L. Kamlesh
(1990)?

(A) Questionnaire consists of 20 items

(B) Each statement has maximum 2 as response value

(C) Subjects scoring below 24 points indicated moderate sports achievement motivation
(D) Subjects scoring above 30 points indicated high sports achievement motivation

Choose the correct answer from the options given below:
(1) (A), (B) and (C) only
(2) (B), (C) and (D) only



(3) (A), (C) and (D) only
(4) (A), (B) and (D) only

Y U FHAY (1990) FHT Il YT GIATSA < GH G hid-H1 hyH e 0§ gh 27

(A)  weTeft °§ 20 He B4 2
(B)  uedeh &eH 4 faswan 2 ufafsn d ardi 21
(C)  eafedd 3PN 24 H &Y UIg2 ThH UIH &idl 8 39H ddfcid el 3ufed YN &1 9d1 =etdl 21

(D)  @afdd 3R 30 Jige #hH YT Hd1 2 JHH 359 defde 39T U0 sl Al FeAd] 2|

49 feu 7o faaeal § | 58 3 1 9499 Fifu .
(1) ad (A). B) 3l (O)
(2)  %dae (B). (C) 311 (D)
(3)  =4e (A). (C) 3 (D)

(4)  &ad (A). (B) 31 (D)

[Question ID = 4439][Question Description = Q63_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17219]
2.2

[Option ID = 17220]
3.3

[Option ID = 17221]
4. 4
[Option ID = 17222]
64) Which of the following are the principles of personnel management?
(A) Avenues for career advancement
(B) Delegation of authority
(C) Recognition of Individual differences

(D) Autocratic approach
Choose the correct answer from the options given below:
1M (A), (B) and (C) only
(2) (A) and (B) only
3) (A), (C) and (D) only
(4) (A), (B) and (D) only
foafefiga 4 & ®R-8 Fifds ybum %1 faga 27
(A)  HUSE & AW GgH b T
(B)  wifehr 1 s
(C)  Jafaas =t =61 =
(D)  awTETE Fewm

Hr= few o faeedi § @ 9d 39 =1 =99 Fifsw . g99 3994



(1)  Faa (A). B) 3l (O)
(2)  %de (A) 3l (B)
(3)  %Fda (A). (C) 31 (D)

(4)  %dd (A), (B) 311 (D)

[Question ID = 4440][Question Description = Q64_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17223]
2.2

[Option ID = 17224]
3.3

[Option ID = 17225]
4. 4

[Option ID = 17226]
65) Which of the following are the branches of the classical theory of management?

(A) Scientific management Theory

(B) Administrative Theory

(C) Bureaucracy Theory

(D) Human resource Theory

Choose the correct answer from the options given below:
1) (A), (B) and (D) only

(2) (B), (C) and (D) only

3) (A) and (B) only

(4) (A), (B) and (C) only

FeAferiag § © TeeA i o Eaal i e e E

(A) I wEeA fmEm

(B) woHEF HoE
(C) r=rmd fogm

(D) ©Fa gEeE mgE

4 fau o e 1 O wE I w9 Fie

(1)  Fa= (A). (B) 51 (D)
(2) A (B). (C) w7 (D)
(3) == (A) 3 (B)

4y Fa (A). (B) 317 (C)
[Question ID = 4441][Question Description = Q65_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17227]
2.2

[Option ID = 17228]
3.3



[Option ID = 17229]
4. 4

[Option ID = 17230]

66) Match List | with List Il :

List | (Countries they belong)

List Il (Physical Educationist)

(A) Sweden ) Archebald Maclarn
(B) Germany (II) Per Henrik ling
(C) Great Britain (Ill) Eduward Hitchcock
(D) United States of America (IvV) J.C.F. Guts Muths
Choose the correct answer from the options given below:
(A) -, (@B - O, € - (av), (D) -
(1)
(1))
(A) - (D, (B) - (am, (© -y, (@ -
(2) (Iv)
3) (A)-am, (@) -, (€) - av), d® - O
(4) A -, (B - @), (© - O (D) -
(1)
=l I < 719 gl 11 %1 faem Sifau -
= [ - (go Ford ey wad &) Tl 11 — (wriess fonam swet)
4 wre @ wrharez Feed
(B) (I) 9 A feém
(C) Uz faea (IIT) vzas fagashis
(D) Ege T ST (IV) 1.1 u%, TeH wgo

4 few o faseredi 4 w@ 39 &1 999 Hifso .

(1 @-ad. @ -@O. (© - av). (D) - I
@ @-O @G -dn © -ad. @O - av
3 @-dn. @ -dy, (© - av). @O - @d

4 @A-ad. @ -dav. © -@d. (@O - db

[Question ID = 4442][Question Description = Q66_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17231]
2.2

[Option ID = 17232]
3.3

[Option ID = 17233]
4. 4

[Option ID = 17234]

67) Match List | with List Il :
List | (Altitude condition)
(A)
(B)
©
()

Hypobaric environment
Hypoxia
Partial pressure reduction

Dehydration

List Il (Consequence)
U]
(m

(Ill) Reduced Atmospheric pressure

Impaired oxygen uptake

Air temperature decreases

(IV) Increased pulmonary ventilation

Choose the correct answer from the options given below:



A)-am, @ -@O, (©)-a), (@O -

) (i
) :ﬁ«))-(“l), (B) - (), € - av), (d) -

3 (A)-(v), (B) - (), (€) - @, (D) - @D

(A)-(m, (B) - V), (€) - (), (D) -

(4) Iy

el T % |9 gl 11 a1 faer Sifau

et I (feufa) gl II — (warE)
(A)  FTIERE ST @ sl st o
(B) wmEdifas (IT) T4 A9 &1 %49 2T
(©) e H ¥ (L) wzsrsHF (i) o i
(D) frdfefia @IV) e e § wgiad

fr feu o fameredi 3 wd 3 %1 =59 Hifw

1 @-a ®-O (© -av). @O - Jm
2 @-dnp. ®-@O. © -av). @O -db
3 @-aw. ® -dnh © -am. O - @d

@ @-dn. @ -av. © -O. @O - ap

[Question ID = 4443][Question Description = Q67_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17235]
2.2

[Option ID = 17236]
3.3

[Option ID = 17237]
4. 4

[Option ID = 17238]

68) Match List | with List Il :

List | (Joint) List Il (Movement)
(A) Irregular ) Uniaxial
(B) Hinge (II) Bioaxial
(C) Condyloid (Ill) Triaxial
(D) Ball and socket (IV) Nonaxial

Choose the correct answer from the options given below:

A)-m, (B) - @(v), (€) -, () -

) (I

) :ﬁl))- vy, (@B) -, < - ay, (@O -

3) (A) - (D, (B) - (Iv), (€) - (), (D) -
(1

(4) :ﬁl))- a, (B - ), € - (v), (D) -

gl T o =2 g I &1 faerm fifae

SN . Tt e N .. Tppa—— P IR ar N A S LT o, ] )



SALL =iy SLALLL — LIRS =S oAt Ty

(A) TR M s
B) f& (I =i ofessie
(C) wwidiAigae (III) ZTEufda e
(D) 1 U3 Hihe (IV) =M ufgsre

Ir9 feu v fawered | 981 39 &1 999 Fifao

H -0 -0 O -0, @O —Jdp
@ @G-, -0 ©O©-. @O -dap
@ @W-O @G -a). (© - dn. @) — Jdn
@ @w-a. ®&-@0O (©-av. @O - dD
[Question ID = 4444][Question Description = Q68_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17239]
2.2

[Option ID = 17240]
3.3

[Option ID = 17241]
4. 4

[Option ID = 17242]

69) Match List | with List Il :

List | (Psychological approach) List Il (Examples in sport psychology)
(A) Social psychology ) Skill acquisition
(B) Cognitive psychology (Il) Team Cohesion
(C) Physiological psychology (lll) Arousal and performance
(D) Developmental psychology (IV) Social learning

Choose the correct answer from the options given below:

1) (A)-(v), (®B) - (D, © - an, (D) -

(I
) (A)-@n, (B) - O, () - (1, (D) -
(v)
3) (A) - (), (B) - (I, <€ - @, (d) -
(v)
(4)  (A)-@1v), (®B) - (), () - @y, (d)- @)
o=l 1 % @y g 11 =1 frem Fifsw
et I — (FArEAT 39) gt 11 — (ders AAiEs 0 2gmE)
(A)  HEISF FEESE (I) =hiwr= =
(B) H3HHF HAETH (I) i\ 5 Theea
(C) iR THamens wifasH (IIT) 31 311 9oeH
(D) TaFmEees TeiEe (IV) =E=F e

4= fou U fFwewal § 92 3 w0 99 i

(1 A -av). B - @O. (© - {an. D) — dID



(2) A-d. @B - @d. (©) - ). D) - av)

(3) A-dn. @ -@d. () -dad. @O - av

(4) A)-av). (B) — IID. (C) — 1. D) — D

[Question ID = 4445][Question Description = Q69_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17243]
2.2

[Option ID = 17244]
3.3

[Option ID = 17245]
4. 4

[Option ID = 17246]

70) Match List | with List Il :

List | (Technological resources in PE class) List Il (Benefits/Purpose)
(A) Pedometers ) Tracking of speed and direction
(B) Heart rate monitors () Assessing body composition
©) GPS :::zenRecords the number of steps
(D) Bioimpedance devices (IV) Intensity levels of activity

Choose the correct answer from the options given below:

(A)-a, (B) - (1, (€) -, (D) -

(1) (V)

) :f\«/))- an, B -, (€) - am, (D) -

3) :ﬁ«))-(“l), (B) - (Iv), (C) - (1), (D) -

4) :f;)-(lv), (B) - (), (€) - (), (D) -
el I w19 9= 11 %1 faee i .

el I— (fi 3. sen O drerifih daem) o I — (env/3e74)

(&) e @ i s feen 6 b
(B) ®W 2 gifer (ID 91 <l s 12 1 geare
(C) il ug, (IID) feu o ool =i fraeid &1 @
(D) TS IYH (IV) Terararerm i Mae 1

4 feu o faseredi 4 981 3 &1 = Fifou

1 @-ad. @ -dh © -@O. @O - av
2 @w-a ®-0. (© -d) @D - av
3 @wW-dp ®-av. © -O. O - dn
@ @W-av), @ - ad. (© - dnh. @D - @d

[Question ID = 4446][Question Description = Q70_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17247]
2.2

[Option ID = 17248]



3.3

[Option ID = 17249]
4. 4

[Option ID = 17250]

71) Match List | with List Il :

List | (Programme/policy) List Il (Year of starting)
(A) National Malaria Control ) 1955
Programme
(B) National Filaria Control () 1962
Programme
(C) National Tuberclosis Programme (my 1953
(D) National AIDS Control Policy (Iv) 2002

Choose the correct answer from the options given below:
(1 A)-am, (@ -, (€) - av), @ - O

(A)-(, (B) - (b, © - (m, (D) -
(v)

(A) - (), (B)
(v)

(A)-(, (B)
(v

(2)

3) 0, <€ - @, (@d) -

(4) (m, (€ -, (D) -

1 1% wg g4 11 =1 faerm Shifae

=l T — (shreishd /Hifd) Hefl IT — (374 & a1 ad)
(A) T merfen g sy @ 1955
(B) T wrgeifran frrE wriw (I) 1962
(C) i wfes =iy (II) 1953
(D) g wgE fgem ifd (IV) 2002

I feu o faweredi 9 98 3 &1 999 Fifau

(1 @-dn @ -ad, © -av. O - @

2 @Ww-a. @® - @O. (©) —adan. @O - dav
3 @W-dn. ® -@O. (© -an @O - adv
49 @GW-d |@-dn ©-O @O -av

[Question ID = 4447][Question Description = Q71_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17251]
2.2

[Option ID = 17252]
3.3

[Option ID = 17253]
4. 4

[Option ID = 17254]

72) Match List | with List Il :
List | (Periods) List Il (Types of exercises)

) Training forms of competitive
(A) Preparatory period - | exercises (coincide but different
movements)



(B)

©

()

Preparatory period - Il

Preparatory period - i

Competition period - IV

(m

Special preparatory exercises,

preliminary, (Mastering the forms of
movement)

(lll) Competitive exercise proper
(Real condition with rules)

(IV) Special preparatory exercises,
developing (improve physical qualities)

Choose the correct answer from the options given below:

(M

()
(A) - (), (B) - (IV),
@
(A) - (), (B) - (),
(3) (V)
(4) (A)-(v), (B) - (),
(n
g1 I % |19 g4l 11 &1 fueam Sifae
=i 1 — (3rafa)
(A) dIrft i sty —1
(B) a1 wafy — 11

(A)-(v), (B) - (),

(C) darf i srafy — 111

(D)

gfeefiran 1 ety - IV

(D) -

(D) -

(D) -

(D) -

Hi= Teu u fashered @ "8 3 &1 =9 Fifae

(1)
(2)
(3
4)

(&) - 1Qv). @) - db.
A ->O. @B - av.
@A-0O. @ - @,
A -dV). @ - @.

€ - @.

(€) — (D).
(C) — 1),
(C) — (1),

=l 11 — (vrfafaferai & wam)
(O i wfafafesi & gfem % == qe-
=i Fe drell T fa=-fa= gee)
() s St Heh nfafafuai grfus (S=em
o TR T YU HIETd] WTH )
(D) wfqarefi wfafafesi, sfam (Fad & @

3faa feufa)

(IV) fasr  darfl Hasfi  afafaioai  fawmsfia
(sTrifres Tpori | Hew)

(D) — (10

(D) — (I

(D) — @V)

(D) - D)

[Question ID = 4448][Question Description = Q72_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17255]

2.2

[Option ID = 17256]

3.3

[Option ID = 17257]

4. 4

[Option ID = 17258]

73) Match List | with List Il :

(A)
(B)
(©)
(D)

List I (Limits)
-2 sigma to -1 sigma
0 to + 2 sigma
-1 to +2 sigma

-2 sigma to +2 sigma

U

(I
(m
vy
V)

List Il (% of area in NPC)
95.44

13.59

72.67

81.85

47.72

Choose the correct answer from the options given below:

(M (il

(A) - (), (B) - (1w,

(D) -



) (A)- (), (B) - (v), (€) - (), (D) -

(I
(A)-(y, (B) - (vV), (€) - (Iv), (D) -
(3) )
4) (A)- (1, (B) - (), (€) - (V), (D) -
U]
Hel 1% w19 F=1 11 &1 faers it .
i 1 — () A I — (03 i =i &% &1 %)
(A) 2 fagmr g - 1 fgm D 9544
(B) 0¥ +2 fgmy (I) 13.59
(C) —19 + 2 fomy 1D 72.67
(D) —2 fo | +2 fammn (IV) 81.85
(V) 47.72

Hra feu v faweredi | |8 3 %1 994 Sifau

1 @-O0O B -dn ©-m"” @O —an
(2) @-dp. ® -av). © -@O. (@O - dp
3 @-d \dB-MmM ©-av. O -0
4 @-dn. @ - dh. © -m. @D -d

[Question ID = 4449][Question Description = Q73_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17259]
2.2

[Option ID = 17260]
3.3

[Option ID = 17261]
4. 4

[Option ID = 17262]

74) Match List | with List Il :

List | (Measurement) List Il (Test)
(A) Motor educability ) Fleishman test
(B) Motor fitness (Il)  Metheny - Johnson test
(C) Motor Ability (Ill) Newton test
(D) Physical fitness (IV) Kirchner test

Choose the correct answer from the options given below:
M A)-an, (B) - V), () - (@m, (@) - O
2  (A)-an, (B) - (1m), (€) - @av), @ - O
3)  A)-am, (B) - V), (€ - @, (@ - O
4  (A)-av), (B) -y, (€) - @, @ - O

el [ < 719 g1 11 %1 faer Sifao .
i T (umor) =t 1T (ftaqon)
(A) Hrer stefiaa (@  weltvEs wfiam

(B) et fpeam (I)  Bfy —wtaa sz

- s



()

(D)

HIZL q&fdl

i e

Fi4 feu o faseredi 8 @ 390 &1 =954 Hifo

(1
2
(3)
@

(&) — D).
(&) — D).
(&) — ID.
(&) — dV).

(B) — dV),
(B) — (1I),
(B) — V).
(B) — (D.

(C) — (IID),
(€) — av).
(€) — db.
(C) — (ID).

(LD =& qaam
(IV) feredr gdiaqor
D) — @

(D) — @

D) - @

D) - @

[Question ID = 4450][Question Description = Q74_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17263]
2.2

[Option ID = 17264]
3.3

[Option ID = 17265]
4. 4

[Option ID = 17266]

75) Match List | with List Il :
List | (Game)
(A) Cricket (Women)
(B) Hockey
(C) Softball (Women)
(D) Tennis

List Il (Circumference of the ball)
0] 22.4 - 23.5 cm

(I 27.6-28.3cm

() 22.4-22.9cm

(IV) 22-22.9cm

Choose the correct answer from the options given below:

1) (A)- (), (B) - (), (€) - ),
(v)
2) (A)-(m, (B) - (), () -,
(V)
(A) - (D, (B) - (1),
@) (V)
(A) - (), (B) - (),
(4) (V)
ol I < =519 9= 11 %1 faam Sifo .
el I — (W)
(A) fwre (ufzem)
(B) =il
(C) Hiweard (dfzen)
(D) <=

© - (v,

© - (b,

(D) -

(D) -

(D) -

(D) -

gl I — (77g <1 dfddw)

@ 22.4—23.5 "1
) 27.6—28.3 A

1D 22.4—22.9 Hifi.

4 feu v faeetedi 8 98 39 &1 994 il

1  @-dn. (@B - (.
(2  @-dmn. B - dD.
3 @-@O (B - dD.

©) - .
©) - .
(€) —dh. (D) — IV)

av)y 22—22.9 9.1
(D) — @)
D) - av)



4 @A-dn @ -0 (© - dan @O - av

[Question ID = 4451][Question Description = Q75_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17267]
2.2

[Option ID = 17268]
3.3

[Option ID = 17269]
4. 4

[Option ID = 17270]
76) Arrange in sequence the presidents of Indian Olympic assocation from first to last

(A) Ashwani Kumar
(B) Suresh Kalmadi
(C) Sir Dorabji Tata
(D) Maharaja Bhupinder singh

Choose the correct answer from the options given below:
(1) (B), (C), (D), (A)
(2) (A), (B), (C), (D)
(3) (D), (A), (B), (C)
4)  (©), (D), (A), (B)

Wt Aiferfores vaifuem & swegei # gy 9 sifan 9% wuag #il

(A) st R
(B) T Feard
(C) o g 2re

(D)  HERTA Y= fae
4 feu o famedi 4 B wEl I & T Fifau

1) (B. (). D). (A)
2 (A).B), (). [D)
3) (D). A.®B.©)
4 (C). (D). A). B

[Question ID = 4452][Question Description = Q76_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17271]
2.2

[Option ID = 17272]
3.3

[Option ID = 17273]
4. 4

[Option ID = 17274]
77) Some steps of chemical reactions of glycotycis are depicted below; find the correct sequence of their appearance
(A) Citric acid

(B) Acetyl CO-A
(C) Fructose-1-6-diphosphate



(D) Oxaloaectic acid
(E) Glucose-6-phosphate

Choose the correct answer from the options given below:
M (©), (E), (B), (D), (A)
() (©), (E), (D), (A), (B)
3) (E), (C), (B), (A), (D)
(4) (E), (C), (D), (A), (B)

SRR & THEHE v (Hfishd fugsE) &1 9 gt e 2, Ik weliE 2F % HE F

qel & |

(A)  HEfeEs
(B) ufgfed - Co-A

.

(C)  HHed - 1-6 - SEFEHEEE
(D)  AleAofaies sna

(E) TMhIA - 6 - FEES
94 feu o fawedi § 9 9t 3w %1 999 Fifau .

(1 (0. (E). [B). D). &
@  (O). (E). D). A). B)
3)  (E).(O). (B). (A4). D)
@ (E). (C). (D). (A). (B)

[Question ID = 4453][Question Description = Q77_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17275]
2.2

[Option ID = 17276]
3.3

[Option ID = 17277]
4. 4

[Option ID = 17278]
78) Arrange the skeletal muscle macro structures in a sequence from outer to inner

(A) Endomysum

(B) Epimysium

(C) Sarcolemma

(D) Perimysium

(E) Scarcoplasm

Choose the correct answer from the options given below:
M (D), (B), (A), (E), (C)

(2) (B), (D), (A), (C), (E)

3) (B), (A), (D), (E), (C)

(4) (D), (A), (B), (C), (E)

Theled WHel (Y3fl) Hehl w2aay ol aret | ofier < %9 o sgafem +i
(A)  ugmEiaam
(B)  wifimrefagg



(C) =kl
(D) Ui urefigay

(E)  HIHATsH
4 feu o faweqi 4 9 wd@ 3+ 994 Fifau .

(1) @D). (B). (A). (E). (C)
(2)  B). D). @A). ©). (E)
(3  (B). ). D). E). O

4 (D). A). B). (). (E)

[Question ID = 4454][Question Description = Q78_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17279]
2.2

[Option ID = 17280]
3.3

[Option ID = 17281]
4. 4

[Option ID = 17282]
79) Find the correct sequence of Maslow’s hierarchy of needs in ascending order
(A) Safety and social needs
(B) Physiological needs
(C) Self-actualisation
(D) Esteem needs

(E) Intellectual and aesthetic needs
Choose the correct answer from the options given below:
(1) (©), (E), (D), (A), (B)
(2) (B), (C), (D), (E), (A)
(3) (B), (A), (D), (E), (C)
(4) (C), (A), (D), (E), (B)
ATE o0 U HEell o FETd & HI9H %H & Hel %Y 6l gl e |
(A) I 3R HETfTs e
(B)  uAdsi stravEal
(C)  3Tren guy el

(D)  HHE $ FE=E

(B) wifzs 3 digdws s
= fou o fawedi 4 9 ot 33 %1 =939 Fifsw .

1) (). (E), (D). (A). (B)
@ (B (), (D). (E). (4)
3) (B A, (D). (E). ©)

4y (O, (A). (D). (E), (B



[Question ID = 4455][Question Description = Q79_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17283]
2.2

[Option ID = 17284]
3.3

[Option ID = 17285]
4. 4

[Option ID = 17286]

80) Find the correct sequence of Indian universities ranks in the first edition of Khelo India university games. From top to
bottom

(A) Punjabi University, Patiala

(B) Panjab University

(C) MDU, Rohtak

(D) Mangalore University

(E) Savitribai Phule Pune University

Choose the correct answer from the options given below:
M (E), (B), (A), (D), (C)

(2) (B), (E), (A), (C), (D)

(3) (A), (C), (E), (B), (D)

(4) (B), (D), (A), (C), (E)

wel gfem favalqarers @eeg & vem =90 § ynedr favafaenerdi & & & 981 %0 &1 951 &)
Q) v favafaener, e

B) e favafaarem

(C) Y TEdH

(D) el favafazmera

(E)  wfael @8 g farvafaenem

frl feu mu fawedi 4 4 w58 I #1 F9 Fifao

(1) (E). (B). (A). (D). (C)
(2)  (B).(E). A). (). D)
(3)  (A).(C). (E). (B). (D)
(4)  (B). (D). (A). (C). (E)

[Question ID = 4456][Question Description = Q80_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17287]
2.2

[Option ID = 17288]
3.3

[Option ID = 17289]
4. 4

[Option ID = 17290]
81) Arrange the following vaccines in a sequence of first to last from their years of invention

(A) Rubella
(B) DTP



(C) Mumps
(D) Yellow fever
(E) Diphtheria

Choose the correct answer from the options given below:
(1) (©), (D), (A), (B), (E)
(2) (E), (D), (B), (C), (A)
(3) (B), (A), (C), (D), (E)
4)  (©), (D), (E), (B), (A)

freaferfiaa Fii #6139 snfaser feu o & ad 9 3wy § 39 & 9 0 syafer +61

-

(A)  F&el
@ SAd
(C) uH

(D) Il
(E)  feeefifon

Hi= feu mu fepedi § § 9E IR #1999 HifA

(1) (©). D). A). B). (E)
(2)  (E). D). B). ). (A4)
(3 (B).A). (). D). (E)

4 (C), (D). (E). (B). (A)

[Question ID = 4457][Question Description = Q81_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17291]
2.2

[Option ID = 17292]
3.3

[Option ID = 17293]
4. 4

[Option ID = 17294]

82) Sequentially arrange start to compeletion, the following factors in order of their developmental phases during a training
programme in sports

(A) Technical aspects development

(B) Mental training

(C) Tactical aspect development

(D) Physical fitness development

(E) Model forms of competitive exercises

Choose the correct answer from the options given below:
M (D), (C), (B), (A), (E)

(2) (D), (A), (B), (C), (E)

(3) (D), (E), (A), (C), (B)

(4) (D), (A), (E), (C), (B)

wegs * i ufviers wrwn & o fafafaa sl & fawm % w4 32 srafvE =

(A) AR 9y fawm



(B)

(©)

(D)

(E)

wfas i
ifeder uat s

T Taud fams

uferere] nfafaferi @1 wrza sy

= feu 1o fawedi § # v I @1 =91 Fifu

(&Y
(2
(3
4

(D). (©). (B). (A). (E)
(D). (&). B). (C). (E)
(D), (E). (A). (C). (B)
(D), (A). (E). (C). (B)

[Question ID = 4458][Question Description = Q82_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17295]

2.2

[Option ID = 17296]

3.3

[Option ID = 17297]

4. 4

[Option ID = 17298]

83) Arrange the following steps of planning a questionnarie in correct sequence from start to end

(A) Determining research objectives

(B) Revise as needed, finalise and duplicate
(C) Gather data, tabulation and final report
(D) Evaluation of questions and pretest

(E) Development of questions

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A), (B), (E), (D), (C)
(A), (E), (D), (B), (C)
(A), (D), (E), (C), (B)
(A), (E), (B), (C), (D)

fopefl wormaedi & gy O T @4rd qaa fefafiad segl & 5y 8 39 & 98 w0 § oyafend &l

(Aa)
(B)
(©)
D)

(E)

HETH & Al 1 HUi &
HTETRAN o FHHR NG F1, Al #9 &1 3R gl gfaai (goefrehe) 54
Yo 3R e & geid

uvdi & faem s

I feu o fawedi 4 O odt 33 =1 931 Fifsw .

(1)
2
(3)

(). (B). (E). (D). (C)
(A). (E), (D). B). (C)
(A). (D). (E). (C), (B)



@ (A (E). B. ). D)

[Question ID = 4459][Question Description = Q83_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17299]
2.2

[Option ID = 17300]
3.3

[Option ID = 17301]
4. 4

[Option ID = 17302]
84) Arrange the following steps of skill test construction in ascending order
(A) Establish the exact procedures for the administration and scoring of the test
(B) Analyse the game or physical qualities
(C) Determine reliability and compute objectivity
(D) Establish validity

(E) Select the test items that measure desired qualities

Choose the correct answer from the options given below:

(1) (B), (E), (A), (D), (C)

(2) (B), (E), (A), (C), (D)

(3) (B), (A), (E), (C), (D)

(4) (E), (B), (A), (C), (D)
Fivrel wier sy (Fmio) % frafafaa =m0 &0 smrd s 9 e
(A W % vEeE 3 R F foe w@ ufen e e
B)  Ee & faveryn wan wiif orEEn
(€)  favadigan @ Fuim s favafraa &1 afemem
(D) |1 =

(E) 39 Tham He &1 934 foras aifead T @1 5191 =1 |eh |
Fre feu o fasedi 8 | wE I #1 9E HifAv

1) (B). (E). (A4). (D). (C)
2 (B).(E). A). (©). D)
(3) (B (A). (E).(C). (D)
4 (E).(B).A). (). D)

[Question ID = 4460][Question Description = Q84_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17303]
2.2

[Option ID = 17304]
3.3

[Option ID = 17305]
4. 4
[Option ID = 17306]

85) Arrange the sequence of steps of budgetting process in ascending order

(A) Analyse past budgets and compare it with new requests



(B) Justify the figures and present the budget

(C) Interpret and Evaluate the budget

(D) Gather Data

(E) Construct the budget

Choose the correct answer from the options given below:
M (D), (A), (E), (B), (C)

(2) (D), (E), (A), (B), (C)

3) (E), (D), (A), (B), (C)

(4) (D), (E), (B), (A), (C)

=t ufsrn < el I SR @ d safd i

A Trae 992 %1 fagemm FE1 $i 0 09 & Jy HeH e
(B)  FHEl &1 HiTTey fHg F=1 991 g9 FEqd

(C) =¥ 6l =arEn Wi siha

(D) 3HiHS TF FHE

(E)  =we famio s
4 fou mu fasedi O 9§ wdl 3w 1 939 Fifsu .

1) (D). A, (E). B). (©C)
2 (D). (E). (A). B). ©)
(3)  (E). D). ®A).®).(©)
@ (D). (E). (B). &), (©)

[Question ID = 4461][Question Description = Q85_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17307]
2.2

[Option ID = 17308]
3.3

[Option ID = 17309]
4. 4

[Option ID = 17310]
86) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : During prolonged exercise in the cold, as energy supplies diminish and exercise intensity declines, a person
becomes increasingly susceptible to hypothermia

Reason R : Exercise triggers release of the catecholamines, which increase the mobilization and use of free fatty acids for
fuel. But in cold vasoconstriction occur.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is NOT the correct explanation of A
(3) Ais correct but R is not correct

(4) A is not correct but R is correct

4 € e oo o # | v iU (Assertion A) % w9 H fafid 2 71 gav1 9% &0 (Reason R) &
w99

HAfpya A - udl 4 el wEvd & dE Al Y U F A 2 3 FEa 1 Tl &9 8 a2, 99
=ty 5 fer=ramg (Eremierhbay mae T 2



ot B S Lt T SR o o SRR b A SR - e L

HI R : Healee atd | herdienfay Feaa 2 A sun & foe =dg 9w s 1 gifaeneseE

Pt

(1)
(2)
(3)
@)

HAT B AN THH WA K "1 a1 21 WA "l & fedl W AdiEREmIA (M Hepaa)
gl 21

FYA < 3ATelreh 4, e feu o fasmedi 4 | wad 30geE IW 1 wgq Fifon

A 31 R €1 &l & 3 R, A &1 5& samen 2)

A 3R R €1 98l # 37 R, A & =581 smen 34 21
A 5l 2 dfed R w21 =41 2

A Hél 1 2 dfea R w21

[Question ID = 4462][Question Description = Q86_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option
2.2

[Option
3.3

[Option
4. 4

[Option

ID = 17311]

ID =17312]

ID = 17313]

ID = 17314]

87) Given below are two statement :

Statement | : In two tail test, 2.5% of the area of the normal curve falls on the right of 1.96 standard deviation above the
mean and 2.5% to the left of 1.96 standard deviation below the mean.

Statement Il : In one tail test, for testing the difference between large sample means, z score of 1.64 is taken as Yardstick
at the 5% level of significance.

In the lig

ht of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct.

(2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect
(4) Statement | is incorrect but Statement Il is correct

Hi= 71w 5w T E)

B el B

T1 21 2 6 W W B 2.5% F9 5 % S 1,96 5E Tamer 1 el s gsa 2 3R
2.5% &7 TTeA F 19 1.96 A fH=er i A 517 95 2

FAIl: UF 20 22 § 9% Uiewd Al #E  w OWE wH F o 5% oae At W

1.64 1 Z THE 1 AS02F & =9 T T = 2|

IHIE FYA F A H, A= 50 T e § O 5ed 39 39 F =9 hia)
() =9 I #r I 50 93 2l

(2) e[ I 317 I =41 7o 2

(3)  Fya I 9A 2, A FoA I 794 2

(4) = I e 2, wited w9 1L |8 7

[Question ID = 4463][Question Description = Q87_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option
2.2

[Option
3.3

ID = 17315]

ID = 17316]



[Option ID = 17317]
4. 4

[Option ID = 17318]
88) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the only force acting on the projectile is the force of gravity, the trajectory of projectile will be parabolic.

Reason R : During the flight vertical factor remain constant and horizontal factor provides downward acceleration at 9.8 m/s
In the light of the above statements, choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true and R is NOT the correct explanation of A
(3) A is ture but R is false

(4) A is false but R is true

4= g1 #A fou e d) s sfieheH (Assertion A) % ¥4 4 fdfigd 2 d1 g5 35 %FY (Reason R) %
w9 H

AMHYF A : Ifg G T Fael Teed g B F @ 2 d1 I F GTAFSA WA g F

AV R:  33M H Hedlal s foR wEd1 & 3R afds & 9.8 m/s W 34! 1fd ygr & 2 ¢

3T FUF & el °, Fi9 fou o fawedi 4 4 wen sugew I == Fifa)

() A3l R M |El 2 31 R, A 1 9 suren 2|
(2) AN REHE T 2 3R, A H o srmen 94 2
(3) Aw# 2 dfFd R 9d 96 2

(4) A =S A 2 dfea R wdl 81

[Question ID = 4464][Question Description = Q88_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17319]
2.2

[Option ID = 17320]
3.3

[Option ID = 17321]
4. 4
[Option ID = 17322]

89) Given below are two statements:

Statement | : Whenever subjective measurement is called for, every effort should be made to make the subjective
evaluation as objective as possible

Statement Il : No amount of objective measurement will replace sound judgement, nor is there anything wrong with
subjective judgement.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement | and Statement Il are true.
(2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true

= & %A feu o E)
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YA F1 =1

FYAIL: Tl fi gor A aeqies W94 Tak v @ gfaeira 94 @ wean, 3 T8 sfeans

fomfa % & o %3 T 2

3P HUA o Aelie 4, Jr fau mu fomedi 4 4 |8 399w 30 %1 9= Fifau)

(1)
(2)
(3)
4

&ed 1 3 11 M1 920 2
#ed I 3 I €M1 Terd 2
FeH I 93 2, cif Fe9 I T4 2

Fuq [ 774 2, ifehd %ed 11 88 21

[Question ID = 4465][Question Description = Q89_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1

[Option ID = 17323]

2.2

[Option ID = 17324]

3.3

[Option ID = 17325]

4. 4

[Option ID = 17326]

90) Given below are two statements:

Statement | : Financial management helps the organisation to survive and sustain itself by preventing misuse and wastage of
funds.

Statement Il : Physical education and sports programmes can never be effective, if there is no sound financial management.

In the light of the above statements, choose the correct answer from the options given below:

(M
(2)
3)
(4)

Both Statement | and Statement Il are true.

Both Statement | and Statement |l are false.

Statement | is true but Statement Il is false

Statement | is false but Statement Il is true

4= 2l wya fou mu E)

FE]T :

faefra waga farel Hweq =ifa g fAfoel & geadm it =aidl 3§ a=me 39 59 31 &0
T 1 Heg i 2

FYA I :  Ffg s Tawdim yaga 940 2 o1 sriifeh e 3 werge SEwn 5 o ward 740 21 g

3P FUA % el 1, Fr4 feu v fasedi § A geH IUgE IW w1 9F4 i)

(1)
2)
(3)

4

e[ I 3 I gF1 | 2
w1 3R II 21 7Ted 21
Fuq [ 9dl 2, sifha e[ 11 Terd 21

HY [ e 2, S %99 11 98 21

[Question ID = 4466][Question Description = Q90_PhyEDU_SHAAN_21NOV_S1_Shift2]

1.1



[Option ID = 17327]
2.2

[Option ID = 17328]
3.3

[Option ID = 17329]
4. 4

[Option ID = 17330]

Topic:- 47PhyEDU_B

1) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii) It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.

FfenEa T STERE W 9T F OIS

FAET I9E TV {999 0 TEA Gedl e 2| AEEE # FR S FeS - F eEEeE A6 A
g s

TS (3999) § o1 354 990E F TFZ AE WTER TEE A aERE A1 S @ e 9 7ER wn F it
U} AW T ] 2, S SE TR 2

(1) == " TSl gEaE Fl R,

(i) =7 STEA Ul ° SoH 2HE W H A= 2,

(iil) == GA-HFAO H T A

(iv) == TP =1 EE 2

I Wit SAEal 98 A w2 (o 5 SRS Ui 2| O A1 Ated iodl S a9 EeE B E
S =9 AHMEG 7l S B U] F9 2 w7l WAl 2| TeaE Tialidl el a9 widl 2 9e 56 S UEEisiE ure

ST WEST ST A Al § sfFfE 1 S gk 2| SAEW s au seed o . 1 o b
gte@iedi ol =RifsERTd Bl 2, S I H @5 B, § UiEdq Bl 2| SAEW % GiE IRN o qEE 5 st d@
SRl STFeRA] 1 55 § UF Hhal 2| SAEE 41 SEEE F J@E F B B 2 A 56 SgE ° S=E 2| 56 A
1 FNAT IFEE & TAR H UHA & o0 T T F (o g A T a9 seeg,va. e, (fava e we) q
I= 7% god fom % 3 ot niafEtes 9 9 | 6-17 W A 3W TR F o 60 fHeed /e, @ o
HAtaw 2, 75 To9zm [l gz Afas 2 @ 150 g /ulq gwrs @ 2 9 3 f54/afd awae =2ewm % o
FEI: E

Structure of covid-19 virus includes protruding spikes made up of

(1) Lipid (2) Cystokinine
(3) Starch (4) Protein

Fifae-19 arprg $1 graar d giesfén 9 (omge) mite 24 8 91 o O | feed 99 8 20

(1) fafre
(2)  HrEEEHEAA
(3) =H

™
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[Question ID = 4467][Question Description = Q91_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17331]
2.2

[Option ID = 17332]
3.3

[Option ID = 17333]
4. 4

[Option ID = 17334]

2) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii) It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.
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One of the functions of body’s immune system is to identify the foreign harmful substance and destroy the mutant cells, is
called

(1) Recognization
(2) Protection
3) Survillance

(4) Defence

i 6l wfaae wonell @ v Fr e waE gl & TEEE a5 aU) e wIbEs i A% =
2, fo f= 0 | & % ST 2)
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2.2

[Option ID = 17336]
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[Option ID = 17337]
4. 4

[Option ID = 17338]

3) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii) It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.
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Htaw 7, 75 9za [l awe afas 2 w2 150 g /ulq gwr @ 2 9 3 f53/ufa awaw =2ewm % oo
FH: B

Passive immunity developes by way of
(1) Vaccination (2) In-born quality

3) Blood product transfusion (4) Infected from an affected person
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[Question ID = 4469][Question Description = Q93_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1
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[Option ID = 17340]
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4. 4

[Option ID = 17342]

4) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii) It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.
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To protect our body from infection exercise may be helpful by way of

(A) Increasing body temperature to prevent bacteria to grow
(B) Increasing muscular strength to fight against bacteria

(C) Exercise may help flush bacteria from lungs

(D) Exercise slows down release of stress hormone



Choose the most appropriate answer from the options given below:
(1) (A), (C), (D) only
(2)  (A), (B), (C) only
(3)  (A), (B), (D) only
(4)  (B), (C), (D) only

i 1 Hehrul § 99 o feru sgram foem v e @l Hedl 2 -

(A) YA % AMTHM i S dfFeital &l "ed | e 2l
(B)  urEusfi angar s "gdr 2 darfes stfgefen g w2 o gk
(C)  =aram wwel ¥ dfdfran %1 e fe gwa 2)
(D)  =4TA™ 997 B o "9 H1 HH Hl 2

i< faw v faered] 4 8 wad I9gF I &1 T4 Hifae

(1) %= (), (C). D)
(@) %94 (A). B). (C)
(3)  #ad A). B). D)
(4) %= (B), (C). (D)
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5) Answer the question on the basis of the following passage :

Carona-Virus has caused world-wide pandemic of respiratory illness. Club-shaped glycoprotein spikes in the envelop give the
virus a crown like appearence. To fight against virus or bacteria immune system of our body performs four major functions;

(i) It recognizes foreign substances

(ii) It defends our body by attacking these substances
(iii) It protects from reinfection

(iv) It performs survillance

Innate immunity is the protection that we are born with. Active or adaptive immunity developes when we are
infected with or vaccinated. Passive immunity happens when we receive antibodies from out side, say transfusion of blood
products.

Physical activity may boost our immune system. Exercise may help flush bacteria out of the lungs and air ways.
Exercise causes change in antibodies and WBCs, the body’s immune system cells that fight against disease. The brief rise in
body temperature during exercise may prevent bacteria from growing. Exercise slows down the release of stress hormone
which may protect against illness. When people are rather forced to stay at home to stop spread of corona virus, WHO
suggested for participation in physical activity, 60 mts/day moderate to vigorous for 6-17 years, 75 mts/wk vigorous or 150
mts/wk moderate 2 to 3 days/wk, respectively for adults.
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During pandemic, when people are forced to stay at home WHO suggested physical activity (PA) for adults and elderly

(A) Moderate PA for 150 mns/wk, 2 days/wk
(B) Moderate PA for 150 mns/wk, 3 days/wk
(C) Vigorous PA for 75 mns/wk, 2 days/wk
(D) Vigorous PA for 75 mns/wk, 3 days/wk

Choose the correct answer from the options given below:
1) (A) and (C) only
(2) (A) and (D) only
3) (B) and (D) only
(4) (B) and (C) only
el % TRE W9 A0 F W H T % o geen e T a1 favs wmwem e (WHO) 3 s S

TS T8 R e (PA) 4 =1 g3ma &)

(A) 150 fo1em /oo #taw = PA, 2 73 /9weE

(B) 150 Toem /weam® #iere @ PA, 3 fo /aw=mw

(C) 75 Wza/mwans Hiew Atas PA, 2 a1 /awmeE

(D) 75 HgE /A Hiew atas PA, 3 o4 /A

= oo o fawenl © | wE I 999 Hia

(1) ==t (A) 31 (C)
(2)  Haw (A) 3T (D)
(3) %At (B) 3 (D)

(4)  =a« (B) 3T (C)
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Topic:- 47PhyEDU_C

1) Answer the question on the basis of the following passage :



Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Nature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

FrafefEd e & YR 9 9w "8 96-100 & I
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“wwHa fomT % w9 8 uftaifya fRm o 2 aun afeem w1 HEw wibed; god warms s e wwen 6
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A /e 3R Fle 98 g 21 wd 5l o 3 fammam @ A8 a9md 21 S e wfeensi 6 defoae
gfram ged 8 39 forn wfgen ardifafeen 3 € ofa wem &1 2 5@ F o 39 3 4 seds g4 2 9
“wfer WA & grdfes faer @ g oA wEe e 2 den e e & fo fafean & ar d gare 38 2
gigensii & ¥R 124 4 39 glEn ol 42 foard gu searfz fam 2 {6 wara 3 ared ae geui & o =8 2|

Female bodybuilders are considered as which of the following :
1) Unfeminine (2) Soft
3) Vulnerable (4) Female frailty

ufzen aidl faeetl =1 ffafaa § | @ g s 22
(1) FAEATE (2) FHme

&
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2) Answer the question on the basis of the following passage :

Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of



women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Nature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Trafefiga memm & nem 9 U @ 96-100 F IW §
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diifdced sABMHATEA (un femine) 2, Fifh 4 “dgd G HHTIE qu FEY A A HifH FAF IR
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gfgensii & ¥ 724 3 4wk i 42 foar gu Ieatfz fa 2 T wgran 3i arehd shae qeui o U A 2

Male is defined as ;

(A) Hard

(B) Strong

(C) Rational

(D) Too mascular

Choose the correct answer from the options given below:
(1) (B), (C) and (D) only

(2) (A), (C) and (D) only

(3) (D), (B) and (A) only

(4) (A), (B) and (C) only

q&q ol feferfiga 4 § fopm w9 4 fvarfya fem T 27
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B) =
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fr= feu o faeedi § | 981 39 %1 =g $ifsu .
(1)  %da (B). (C) 3 (D)

(2)  %ad (A), (C) 31 (D)

(3)  %dd (D), (B) 31 (A)

(4)  *&d (A). (B) 301 (O
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3) Answer the question on the basis of the following passage :

Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Nature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Taferfiaa e & 3mem 9 9 5 96-100 I I Q :
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Which of the following is an alternative definition of female

1) Female frailty (2) Soft

3) Emotional (4) Female new image
FreAfetfiaa 1 | k- afzen i gfarn &1 defeas 94 27
(1) Hfeern s (2 *me
3)  wWgH (4) wizen =t 94 B
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4) Answer the question on the basis of the following passage :



Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Nature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Tafeafaa M & smen 9 g9 5659 96-100 1 IW E :

foet %3 wwg & «m Afzen St -facell 1 g 7 vafaafaa oma 2 9 39 wfa v @ 2 2
=i www gfvad] gepfa 4 sfawa @@ A #1 fafus sEarms & €9 0 @@d 2 S 9 0HS $ d
stem-arem Aforl st greafes fafee ofgen si g 4 =@ 21 sl wffem yorell % srEn afzensi +
“wwHe fomT % w9 8 gty fR o 2 aun afeemm w1 HEw wibed; god warms s e wren 6
FEIA Al 21 H T2 2301 2| arad ° 7d wdred) 8 gfeen 6 dmed di waar s ofzen f e 3 A
Y 4 1A B el 3 gey @l wera fom o sy 4 afearfa fan a2 qen drewdr &1 G564y 39 SaR oo ;
AbHIA SR UfEell 18 2] and H g6 HIENU WO €Y § AR 3 geea | deivd 81 3 gd | e
| HETE GR W AR a2 T el 3 v # = 21 ufzen aidifassi 4 difie @k @ g4 4 2 s
F7a & ArN & faar &1 fe g TR A =ad 2, 9 T @ 21 aEEard e faemam & e afEen
digifeeed 3HHMUAEA (un femine) 2, #ifh I “Fgd ST CUHETIE Au FEY A & #ifh IR IR
A /e 3R FlE 98 g 21 w5 e 3 fammam & 9E gmd 2 | S wfEensi 6 dwfors
gfram ged 8 39 foen wfgen ardifafeen 3 € ofa wem &1 2 5@ F oM 3 30 4 e ged 2 9
“wfee WA % 9RdfER faEr @ FHd oA vHe i 2 e v e % fo fafean & an i gare 33 2
gieensii & w74 4 39 gfkn i 42 foard gu searfz fam 2 fe wera 3t ared sae geui & o =8 2|

Gender is defined in the following categories :

(A) Male
(B) Rebel
(C) Female
(D) Deviant

Choose the correct answer from the options given below:

1) (B) and (A) only (2) (D) and (C) only
3) (B) and (D) only (4) (A) and (C) only
fom &1 fa=fafiaa Jforl A uftafya fon snoawm 22
(VI
®) fagiE
(C)  Hfzen
D)  uY fqae-Hal

I feu o famedi 0 § g 3 @ =929 Fifu .

1)  Fad (B) 3 (A) (2) %aa (D) 3R (C)

(3)  Fad (B) 3 (D) (4) Faa (A) 3R (O)
[Question ID = 4480][Question Description = Q99_PhyEDU_SHAAN_21NOV_S1_Shift2]
1. 1

[Option ID = 17383]
2.2



[Option ID = 17384]
3.3

[Option ID = 17385]
4. 4

[Option ID = 17386]
5) Answer the question on the basis of the following passage :

Many people in the recent past saw women body-builders as rebels or deviants, as freaks of nature. This was the case
because most of the people in Western cultures saw genders in terms of differences that divide all humans into two distinct
and mutually exclusive categories: females and males. According to this classification system, females are defined as the
“weaker sex” and femenity is associated with being soft petite, emotional and in need of protection, in fact dominant
standard of feminine beauty over the past century has been associated with vulenerability and weakness. Males on the
other hand, are defined as the stronger sex and mascularity is associated with being hard, strong, rational and defender of
women. In fact masculine attractiveness traditionally has been associated with invulnerability and strength. And many
people simply assume that “Nature intended in that way. Women body builders have challenged this gender logic and in the
process have threatered many people’s ideas about how the world works. According to dominant gender ideology, women
body-builders are unfemine, because they are “too muscular”, and ugly because their bodies are not soft and vulnerable.
But not everyone accepts this ideology. For those seeking alternative definitions of feminity, women bodybuilding has
provided new images that some people find exciting. They like the idea of challenging traditional notions of “Female
frailty” and raising questions about the biology of gender difference. Women bodybuilding has encouraged this process by
showing that hardness and strength are not exclusively the attributes of males.

Tafeafaa M & smen 9 g9 5659 96-100 1 IW E :

foet %3 wwg & «m Afzen St -facell 1 g 7 vafaafaa oma 2 9 39 wfa v @ 2 2
=i www gfvad] gepfa 4 sfawa @@ A #1 fafus sEarms & €9 0 @@d 2 S 9 0HS $ d
stem-arem Aforl st greafes fafee ofgen si g 4 =@ 21 sl wffem yorell % srEn afzensi +
“wwHe fomT % w9 8 gty fR o 2 aun afeemm w1 HEw wibed; god warms s e wren 6
FEIA Al 21 H T2 2301 2| arad ° 7d wdred) 8 gfeen 6 dmed di waar s ofzen f e 3 A
Y 4 1A B el 3 gey @l wera fom o sy 4 afearfa fan a2 qen drewdr &1 G564y 39 SaR oo ;
AbHIA SR UfEell 18 2] and H g6 HIENU WO €Y § AR 3 geea | deivd 81 3 gd | e
| HETE GR W AR a2 T el 3 v # = 21 ufzen aidifassi 4 difie @k @ g4 4 2 s
F7a & ArN & faar &1 fe g TR A =ad 2, 9 T @ 21 aEEard e faemam & e afEen
digifeeed 3HHMUAEA (un femine) 2, #ifh I “Fgd ST CUHETIE Au FEY A & #ifh IR IR
A /e 3R FlE 98 g 21 w5 e 3 fammam & 9E gmd 2 | S wfEensi 6 dwfors
gfram ged 8 39 foen wfgen ardifafeen 3 € ofa wem &1 2 5@ F oM 3 30 4 e ged 2 9
“wfee WA % 9RdfER faEr @ FHd oA vHe i 2 e v e % fo fafean & an i gare 33 2
gieensii & w74 4 39 gfkn i 42 foard gu searfz fam 2 fe wera 3t ared sae geui & o =8 2|

“Nature intended it that way” Which means male is defined as
(1) Defender of women (2) Weak
3) Vulnerable (4) Bold

“yehfd 4 30 g6 w9 0 g4 2 famem e w6 fees w0 4 ofoarfia fen o 2)

(1)  wfgen 1 (2) HHAR

@ e (4 Fe
[Question ID = 4481][Question Description = Q100_PhyEDU_SHAAN_21NOV_S1_Shift2]
1.1

[Option ID = 17387]
2.2

[Option ID = 17388]
3.3

[Option ID = 17389]
4. 4

[Option ID = 17390]

Topic:- GP_Set4_A



1) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs =o0ld by two companies A and B from the year 2014 to 2019, Based
on the data in the table, answer the question

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

T H. 1-5

AT dfersel 5 =1 H9iar — A 3 B g1 a9 2014 F 2019 % w19 [ida @6 foshi| wg=e Fege #

T =9I TS 2| ATl H UET SIS % SR W 4T # I

THAS FAE 1 G9AE SeAE A T

Bt 1 g1 [T TEee Fogen 1 | FeE g s T g e
T (79T ) =1 g (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

What is the total number of PCs produced by Company A which remain unsold in all the six years together?

(1) 137400  (2) 144340
(3) 152200  (4) 168000

A FUH gAY A9W UH WEAE g i @A el 2 a1 98 aW ° st 3 Y

(1) 137400 (2) 144340
(3) 152200 (4) 168000

[Question ID = 4582][Question Description = Q01_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17791]
2. 2 [Option ID = 17792]
3. 3 [Option ID = 17793]
4. 4 [Option ID = 17794]

2) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs =o0ld by two companies A and B from the yvear 2014 to 2019, Based
on the data 1n the table, answer the question

Year-wise Production and Sale of PCs

T v ben ~F PV s At rmmd e Puooammtrtoorem (202% 28 P e amld



Sy d B A e i i i el b L b ot - Tk Al PR S e Tl ot i ol ol o) S R o
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 5% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

T H. 1-5

[T aTfersn 5 51 ®9HE — A R B g a9 2014 | 2019 % €9 Figa 26 f6shia 16ae Fege i

T ZIIE TS 2| AT § UET S & NUR W 0¥ I G

TEAE FEE 1 AYA 3o 7 A

ekl 1 GRT [ TEee Foged H | e g A T g Fege
e (79 H) =1 wieer (%)
A B A B
2014 40 45 60% 50%
2015 52 48 5% 40%
2016 60 G4 50% 75%
2017 70 G2 80% G0%
2018 72 65 40% 80%
2019 a0 80 60% 50%

What is the ratio of the number of PCs sold by Company B in 2018 to the number of PCs that remained unsold by Company A
in the year 2015?

(1)5:2
(3)5:3

(2)4:1
(4)4:3

A FET ZR A9 2015 9 7 W9 A T THTE Fgen # go # B F gR 2018 € 99 T 9@ Fegl

1 FIIE FET

(1) bisgh 2y 4:1

(3) i (4 4:3

(a1

[Question ID = 4583][Question Description = Q02_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17795]
2. 2 [Option ID = 17796]
3. 3 [Option ID = 17797]
4. 4 [Option ID = 17798]

3) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs z0ld by two companies A and B from the vear 2014 to 2019. Based
on the data in the table, answer the question

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 €0 G4 5094 TRO




2017 70 62 80% 60%
2018 72 G5 40% 80%
2019 a0 80 60% 50%

T H, 1-5

.

(eATTha arferrl J &7 ®aHE — A 391 B gin =¥ 2014 @ 2019 % s Fida 31w fsshia wdae Fore i

TTEAT Z9ITE TE 2| AT § T S % YR W Y9 W ST

T FAZU F A9 oA AN e

EL| 1 gr1 e Tdeer Fogen $1 | e g S T g e
e (7AW H) =1 e (%)
A B A B
2014 40 45 60% 50%
2015 52 48 TH% 40%
2016 6o G4 o0% 15%
2017 70 G2 80% 60%
2018 72 G5 40% 80%
2019 90 80 60% 50%

What is the difference between the total number of PCs sold and the total number of unsold PCs of Company B in all the six
years together?

(1) 68700  (2) 70500
(3) 72100  (4) 73800

TE a9 H B Ul o foeh 31t i qeee Segel i e o sed A 2 7

(1) 68700 (2) 70500
(3) 72100 (4) 73800

[Question ID = 4584][Question Description = Q03_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17799]
2. 2 [Option ID = 17800]
3. 3 [Option ID = 17801]
4. 4 [Option ID = 17802]

4) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs =o0ld by two companies A and B from the year 2014 to 2019. Based
on the data in the table, answer the guestion

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 a0 80 60% 50%




IAEAl=pa dlict=nl H of =Yl — o S D gt o8 2ula S ZULY =0 s IH1Rd S IsEenid Sl sptotl =nl
T =9I S 2| ATl H 9T TS & STYE W 4T # I

TS FE 1 TIAE I SR A

EL| FH1 GRT [T TEee Fogen H | e g S T g g
T (70 ) =1 e (%)
A B A B
2014 40 45 60% 50%
2015 52 48 5% 40%
2016 60 G4 50% 5%
2017 70 G2 80% G0%
2018 72 65 40% 80%
2019 90 20 60% 50%

The number of PCs sold by Company A in 2015 is what percentage of the number of PCs sold by Company B in the year
2019?

(1) 82.5%  (2) 87.5%
(3) 90%  (4) 97.5%
A = g 2015 § 59 M0 TEEE F920 H o 5 B w0 2019 ¥ S9 T A FgE #6

(1) 52.5% (2) 87.5%
(3) 90% (4 9

[Question ID = 4585][Question Description = Q04_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17803]
2. 2 [Option ID = 17804]
3. 3 [Option ID = 17805]
4. 4 [Option ID = 17806]

5) The following table embodies details about the number of Personal Computer (PCs) produced
and the percentage of PCs =zo0ld by two companies A and B from the year 2014 to 2019. Based
on the data in the table, answer the guestion

Year-wise Production and Sale of PCs

Year Number of PCs produced by | Precentage (%) of PCs sold
Company (in Thousands) by Company
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 a0 20 60% 50%

T H. 1-5

freTtFa aTfern & 21 Faa — A R B g A9 2014 § 2019 7 &/ Fiea 1 fashE 1@ee woge i
T T TS 2| e # UEE HS % SYR 9% U9 IS

TS F H A9 I A e

=

SO £ i T Shah OO0 LG -5 PRCPLUN Bel PO . R S T



sl (Rt 1) A= | o)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

The number of PCs sold by Company A in year 2017 is what percentage more than the number of PCs unsold by Company B
in year 2016?

(1) 250%>  (2) 200%

(3) 120%  (4) 80%

9 2017 § A FUH g W TC WA HHA F FEAT 99 2016 H B HHT T 59 A FF TS FgA
%1 T ° fhaar gfaea sfas 27

(1) 250% (2y 200%

(3) 120% (4) 80%

[Question ID = 4586][Question Description = Q05_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17807]
2. 2 [Option ID = 17808]

3. 3 [Option ID = 17809]
4. 4 [Option ID = 17810]

Topic:- GP_Set4_B
1) Which level of teaching is also designated as ‘exploratory understanding’?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

(1) A= (2) e T
(3) famefi-fa=7 = (4) wmET fTwm =

[Question ID = 4587][Question Description = Q06_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17811]
2. 2 [Option ID = 17812]
3. 3 [Option ID = 17813]
4. 4 [Option ID = 17814]

2) ldentify the characteristics of ‘Field-independent learner’
(A) Seeks guidance and demonstrations from teacher

(B) Focuses on details of curriculum materials

(C) Likes to compete

(D) Relates concepts to personal experience

(E) Can organize imformation by himself or herself

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only  (2) (A), (C) and (D) only
(3) (B), (C) and (E) only (4) (C), (D) and (E) only

BE-g aAteTeeal 1 feeman #

(A) Torers @ Al Few afl W wEeH i wuan w2
(B) eI\ i GEAATA! W A Hid e
(C)  wfaendl 51 weig e B

(D) FFEarenHA Fi HiwH T = G 2EE 2



(E) o= =i T4 =Haftad 1 Tt/ adt 2|

Hi f3u v fameqi # © @ 39 w0 =E9 it

(1) =3 (A). (B) i (O)
(2) = (A). (O) 3 (D)
(3) == (B). (C) ¥ (E)
(4) === (C), (D) ¥ (E)

[Question ID = 4588][Question Description = Q07_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17815]
2. 2 [Option ID = 17816]
3. 3 [Option ID = 17817]
4. 4 [Option ID = 17818]

3) Match List | with List Il

List I List Il

(Teaching Method) (Examples)

(A) Monologic teaching method (I) Cybernetics and computer-aided instruction
(B) Dialogic teaching method (Il) Case studies and tutorials

(C) Action based teaching method (lll) Team teaching and demonstration

(D) Self study based teaching method (IV) Simulation and role playing

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(11), (C)-(D), (D)-(IV)  (2) (A)-(llN), (B)-(1), (C)-(1V), (D)-(I)
(3) (A)-(1), (B)-(1V), (C)-(I), (D)-(1))  (4) (A)-(IV), (B)-(1), (C)-(1lT), (D)-(I)

FH1-1 % =19 F=1-11 7 5= i
il LI
(v fafer) (sarEw)
(A)  TEEY e () TEsERF 2 S -ee=d
(B) TamEr e fafy (I) =afe =1emae i SR
(C) =he-wrariia faem fafy (I11) == foreqmn i wEe
(D) TETATI- ST ST (IV) 1g&9m i giar fHede

Hre fou o famedt | @ wél S W 9Ee Fif

(1) (A)-aD. (B)-III). (C)-(D). (D)-IV)
(2)  (A)-ID. (B)-(ID). (C)-(IV), (D)-(I)
(3) (A)-(T). (B)-(IV), (C)-(ID), (D)-(11T)
(4) (A)-(AV). (B)-(I). (C)-(IID), (D)-(II)

[Question ID = 4589][Question Description = Q08_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17819]
2. 2 [Option ID = 17820]
3. 3 [Option ID = 17821]
4. 4 [Option ID = 17822]

4) Given below are two statements :

Statement | : Engagement in the learning process refers to the amount of time students devote to learning in the classroom.
Statement Il : Formative assessment is formal whereas summative assessment is informal.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.
et 1 = faw o £

=99 (I) - safern afere § o= = OEY wET O srtae o el =ny EfEmitas o o 2



=g (I0) : FETeE AT AT B & 6T SEeeE S S B B

3YLRE YA o ST °, 99 2 U el § § w8 39 1 =99 i

(1) = (I) = (ID) 2 aex &

(2) = (I) 3R (1) 3 @ 2

(3) = () |cF &, wibeT e (1) 18T 7
@) T (D) 5ES 2, S F99 (D T 2

[Question ID = 4590][Question Description = Q09_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17823]
2. 2 [Option ID = 17824]
3. 3 [Option ID = 17825]
4. 4 [Option ID = 17826]

5) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : Teaching support system as provided by ICT based gadgets is intended to optimise learning and interest in
learning material.

Reasons (R) : Any meaningful support in teaching has to be instrumental in augmenting learning conditions and outcomes.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

H= 31 o f5n w2 uw Al (Assertion A) % ¥ ® ffaa # @ gE 3wF F001 (Reason R) &

ETH :

A (A) AEHE - anHfE 52 § IUEUesy SEAET GEEAT UITE] W S S A6 s
At § wfa % Fgiewm § 2
= (R) : AT a7 MAFH-HEEa JEYA, oty i uifEsta ot uftome % g9de |

IR AT % AT |, i faw e et § o e Suge IE w6 =g i

1) (A) 3k R) 3A wE E 3R (R). (A) F @ =men
(@) (A) 3R (R) I wE E, S R). (A) F T = T4 2
(3) (A wE 2, A (R) w8 T 2
(4 (AT L, G ®) TR

[Question ID = 4591][Question Description = Q10_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17827]
2. 2 [Option ID = 17828]
3. 3 [Option ID = 17829]
4. 4 [Option ID = 17830]

6) Data of research take the forms of words or pictures with the researcher as the key instrument in which of the following
studies?

(1) Participant observation based Studies  (2) Ex Post Facto Studies
(3) Experimental Studies  (4) Descriptive survey Studies

fita © & feg s1eaea 4 w98aH + 350 90 @A 4 B9 H 92 79T 9 w0 E0 o ofar 27
(1)  =Eanl G- A== (2)  FERE T
(3) e T (4) T geET s

[Question ID = 4592][Question Description = Q11_GP_21NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 17831]
2. 2 [Option ID = 17832]



3. 3 [Option ID = 17833]
4. 4 [Option ID = 17834]

7) Identify the characteristic features of ‘Hypothetico-deductive research’ paradigm :

(A) Researcher is detached from the study to avoid bias

(B) Researcher becomes immersed in the research situation present or past

(C) The researcher seeks to establish relationships and explains causes of changes in measured social facts
(D) Actual settings are the direct source of data

(E) An attempt is made to set up universal context free generalizations.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only  (2) (B), (C) and (D) only
(3) (A), (C) and (E) only  (4) (C), (D) and (E) only

ARhEIAT-SATaTHE FEHe o SgEaE H geg fGemast 5 e Fife

(A)  THTE Hw=T AU sHHaEEal S ¥ 9EgE & 9 2

(B)  ¥H@aEEHAl A58 qETafs § fEm 2 S 2 - = 9w F9ae w2 agEn a7

(C)  ¥H@9EFHAl 5y TG 1 Faa] 2 317 O1i0q G 923 § uiiad 9iEdd % R s e
=
2l

(D)  =watas ahfeafat gaml & T=e 5 = A

(E)  =rawim geeyw A= = qfqure s w=mE = 2|

e faw o feeReT ® @ @R 3T %R =EA i

(1) === (A). (B) 3R (C)
(2) =& (B). (C) 31 (D)
(3) A (A), (O) 3 (E)
(4 FaA(C). (D) N (E)

[Question ID = 4593][Question Description = Q12_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17835]
2. 2 [Option ID = 17836]
3. 3 [Option ID = 17837]
4. 4 [Option ID = 17838]

8) Match List | with List Il

List 1  Listll

Research Types Goal of Research

(A) Fundamental Research  (I) Appraising impact of interventions

(B) Applied Research  (ll) Amelioration of a given situation

(C) Action of Research  (lll) Exploring applicability of already established principles
(D) Evaluative Research  (IV) Advancing the corpus of knowledge in a field
Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(I), (C)-(1), (D)-(IV)  (2) (A)-(IV), (B)-(Ill), (C)-(I1), (D)-(1)
(3) (A)-(im), (B)-(1V), (C)-(D, (D)-(1)  (4) (A)-(I1), (B)-(1), (C)-(IV), (D)-(ll)

Fet-1 % =g =11 A e it
71 11
(A) Hifers FgEaE (I)  ==a&T] & 9919 =1 ATFA
(B) =dEd IHUN (ID) W= afifeafs § gamr =
(C) Tormmew wa|a™ (IIT) & =iua gl i T =1 A=
(D) TFAEFA WF ATHIH (IV) &= -Taem | 59 =09 =1 Taad

Hi= fou U feepeTl | © WE IO 1 99 ShitAw

1) (A)-@. (B)-AD). (C)-(IID). (D)-AV)



L) La)-ULV ), (D)-(101), (L )-(11), (LY)-(1)
(3) (A)-(I1II), (B)-(IV). (C)-(I). (D)-(11)
(4) (A)-(IT). (B)-(I). (C)-(IV), (D)-(II1)

[Question ID = 4594][Question Description = Q13_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17839]
2. 2 [Option ID = 17840]
3. 3 [Option ID = 17841]
4. 4 [Option ID = 17842]

9) Given below are two statements :

Statement | : At every step of research genuineness is to be vouched. Hence the issue of research ethics becomes
germane.

Statement Il : ICT application in research is supportive and facilitative rather than mandatory and absolute.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

F97 (D) FEYE % Ui = ° ATEtashal % 9id FE s @ e 8| wEus agEgE §
s -Hifaar #1 favz weeawi 2 S 2

Fo (1D FAEI | AT AT AEGARE ST g 7, 7 6 st s e
IHIH HYF & AAS H, G &G v femedt § 8@ wed uge 39 #1099 il

(1) == (D) =7 (ID) 31 =1 2
) Fe (1) AR () 3 T F
(3) =M (D) me 2, i F9F (1D 7= &
(4)  FR (1) TeE B, wiET wue (1) 7 2

[Question ID = 4595][Question Description = Q14_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17843]
2. 2 [Option ID = 17844]
3. 3 [Option ID = 17845]
4. 4 [Option ID = 17846]

10) Given below are two statements : One is labelled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Research Hypothesis (H1) cannot be directly verified.

Reasons (R) : Null Hypothesis (HO) is helpful in making a claim by the researcher that his/her findings are not fortuitous or by
chance.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= 21 w9 f2u e 2 : uF wfaeud (Assertion A) % =9 # fafgd 2 i By 3% FAW (Reason R) &

w1 F
AR (A) oMY wiwmeTn (Hy) Uessa: eaiiaa T8l =il =1 o]
F (R) : et aiiseTa1 (Ho) S98a==al & 39 219 § 92/ 26l 2 1 395 g gionmg

I FUA F AT 9, = B T G § @ gew ugs T # =9e it

(1)  (A) 3 (R) IFT T8t £ 371 (R), (A) it T8t = 2



@) (A) 3R @R) I T E, 9 (R), (A) F @ = T 2
(3) (AT 2, @fFE (R) 7 +4 2
4) (A wE FE 2, T (R) TE 2

[Question ID = 4596][Question Description = Q15_GP_21NOV_S2_SHAAN_Shift2]
1 [Option ID = 17847]
2 [Option ID = 17848]
3 [Option ID = 17849]
4 [Option ID = 17850]

A WN -

11) Which type of Communication is most difficult in gearing message to an audience?

(1) Interpersonal Communication  (2) Mass Communication
(3) Intrapersonal Communication  (4) Group Communication

AT 79 [0 TFE % Ha3 F T9F a9109% e 27

(1)  sTo==fes J=mn (2) A EER
(3)  sIadafrs = (4) TgE TER

[Question ID = 4597][Question Description = Q16_GP_21NOV_S2_SHAAN_Shift2]
1 [Option ID = 17851]
2 [Option ID = 17852]
3 [Option ID = 17853]
4 [Option ID = 17854]

A w N -

12) Given below are two statements :

Statement | : Audience noise is potent when the message is controversial.

Statement Il : It is impossible for any communication to convert an audience from one viewpoint to another.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.
F97 (I) Ha faEErETE B A Al #1 wieEe 99 5 9l 2
FoA (1) : e it faam-3fe 9 ufads e off g=w § e 2 2

ST YA = AT |, 49 730 70 Geeul § ° #8301 =9 i

(1) = (1) =18 (1) 31 &9 &

(2)  =wuE (D) #i (ID) 2H =180 7

(3)  FuE (I) TeA 2, =it e (1) 8T 2

(4)  FE (1) 58 2, =T ®we= (1) Te7 2
[Question ID = 4598][Question Description = Q17_GP_21NOV_S2_SHAAN_Shift2]
1 [Option ID = 17855]
2 [Option ID = 17856]

3 [Option ID = 17857]
4 [Option ID = 17858]

A WN -

13) Given below are two statements : One is labelled as Assertion A and the other is labeled as Reason R.
Assertion (A) : Research has shown that the two-step flow theory is oversimplified for every field of interest.
Reasons (R) : People tend to make great use of the media now in their respective interest.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT

the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

I 31 #9F fou U # ;o wfiw9E (Assertion A) % =9 § fofigg # 7 3T FAT (Reason R) &

EOH



HHFYA (A) @ ITEYH " WE A T T Wodw ®H-&F 6 U Tg-=0IE UdlE Wgld Fl
sfeareT o T 2

FIM (R): AT #| S0 = | Hifsar = w5 SuEe w9 = e 2
W FUA F A G, A B T A |9 weE 30T I 1 997 Fia

(1) (A) ¥R (R) FA ®WET # 370 (R). (A) F 781 = 2
(2) (A 3R (R) 3HT @@ 2, S (R), (A) 1 =8 =men 78 2
(3) (A @ B, wfE (R) @8 796 2

4 (A TH AR, T R EE

[Question ID = 4599][Question Description = Q18_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17859]
2. 2 [Option ID = 17860]
3. 3 [Option ID = 17861]
4. 4 [Option ID = 17862]

14) Physical barriers to communication are rapidly disappearing, but psychological obstacles remain owing to which of the
following?

(A) By formal language

(B) By visual presentation

(C) By use of technology

(D) By emotional appeal

(E) By cultural attitude

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only  (2) (A), (B) and (C) only
(3) (B), (C) and (D) only  (4) (C), (D) and (E) only
= gEdl wifes s asft o fae w @ 2 g Fefea 9§ @ e geg sEme S| v 87

(A) =T o o
(B)  Fwa e A

(C)  wteifefig zu=mr
(D) AT e q

(E)  ®pias sAfaghy &

I f2u o o 8 9 wE 3w 1 =99 Fifw

(1) A= (A). (D) 1 (E)
(2)  FAT(A), (B) 3 (O)
(3) A (B). (C) 31 (D)
(4)  =ae (C), (D) 317 (E)

[Question ID = 4600][Question Description = Q19_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17863]
2. 2 [Option ID = 17864]
3. 3 [Option ID = 17865]
4. 4 [Option ID = 17866]

15) Match List | with List II.

List 1 Listll

Elements of Communication Characteristic feature

(A) Source (I) Means used to convey the message

(B) Receiver (Il) Set of verbal and nonverbal cues from a source

(C) Message (lll) A person who interprets the message

(D) Channel (IV) A person or an event which provides verbal/non verbal cues.



Choose the correct answer from the options given below :

g1 % =y -1 = e Fifm
-1 -1
(A) = () = wufed = 29 99 aee
(B) w9 (I) =ia | === 37 W-aras 5
(C) =m (III) 29 =i =) FHTT =i
(D) =a (IV) =faes /Ti-anfems @ 34 aTefl =Aih S7eET

HeAl

I f2u o fa=wedt € O OF I W =9 Fitan

(1) (A)-(II). (B)-(I). (C)-(IV). (D)-(11II)

(2) (A)-(I). (B)-(II). (C)-(IIL). (D)-(IV)

(3) (A)-(IIT). (B)-(IV). (C)-(1). (D)-(II)

(4) (A)-(TV). (B)-(ITT). (C)-(IT). (D)-(T)
[Question ID = 4601][Question Description = Q20_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17867]
2. 2 [Option ID = 17868]

3. 3 [Option ID = 17869]
4. 4 [Option ID = 17870]

16) If the selling price is doubled, the profit triples. What would be the profit percentage?

(1) 25%  (2) 50%
(3) 100%  (4) 125%

3R 93 e 2 2R T ar T = S At et 949 27

(1) 25% (2) 50%
(3) 100% (4) 125%

[Question ID = 4602][Question Description = Q21_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17871]
2. 2 [Option ID = 17872]
3. 3 [Option ID = 17873]
4. 4 [Option ID = 17874]

17) Mohan buys a second hand television at a cost of Rs. 7,500 and spends Rs. 500 on its repair. Later on he sells it at a
cost of Rs. 9,000. How much profit he gets in this process?

(1) 7.5%  (2) 12.5%
(3) 20%  (4) 25%

HigT 4 7,500/ ®AU H U QAT Selifae @ifer Wit SEe oUmd WS00/- ®9T @e fhu) wig H, 39
9,000/ - U % =4 27| 306 &9 1 9IE e 27

(1) 7.5% (2) 12.5%
(3) 20% {4) 25%

[Question ID = 4603][Question Description = Q22_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17875]
2. 2 [Option ID = 17876]
3. 3 [Option ID = 17877]
4. 4 [Option ID = 17878]

18) The cost price of 10 items is same as the selling price of N items. If the profit is 25%, then the value of N is?

(1) 8%  (2) 16%
(3)20%  (4) 25%

3R 10 =gl 1 = 5ed N awgalt % fasa-ge9 % s 2 S & 25% = at N %1 ge7 391 27



(1) 8% (2) 16%
(3) 20% (4) 25%

[Question ID = 4604][Question Description = Q23_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17879]
2. 2 [Option ID = 17880]
3. 3 [Option ID = 17881]
4. 4 [Option ID = 17882]

19) The average age of A, B and C is 25 years. If the average age of A and B is 22 and that of B and C is 23. Then what is
the age of B?

(1) 15 years (2) 20 years

(3) 25 years (4) 30 years

A, B 3t C i 3itaq 35 25 99 2| 37 A 31t B it 3ftea 39 22 94 31k B 9w C it 23 =9 =, af B =i
37 F B 7

(1) 1539 (2) 20"
(3) 2599 (4) 3099

[Question ID = 4605][Question Description = Q24_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17883]
2. 2 [Option ID = 17884]
3. 3 [Option ID = 17885]
4. 4 [Option ID = 17886]

20) In a cricket match, in the first 20 overs run rate was 4.5. What should be the run rate in the remaining 30 overs to
meet a target of 325?

(1) 6.24 (2)7.83
(3)5.94  (4) 8.21

T Tt ke o & Uum 20 ST 1 T SAEA 4.5 B, A 325 1 &9 WH B 6 o 9w 30 e o
T =t gt 1 BT =Ry ?

(1) 6.24 (2) 7.83

(3) 5.94 (4) 8.21
[Question ID = 4606][Question Description = Q25_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17887]
2. 2 [Option ID = 17888]

3. 3 [Option ID = 17889]
4. 4 [Option ID = 17890]

21) Which of the following statements is true regarding two contrary propositions?

(1) They can both be true  (2) The truth of one entails the falsity of the other
(3) They cannot both be false  (4) The falsity of one entails the truth of the other

31 feret ufemifu=i = weg ® Feifted 4 4 F-w1 sAthFas a0 27

(1) = == 31 = 2

(2) o F T g A wEe W A 2

(3) =Ml rEea T & |

(4) U I e ZE A Heaal F 0w Al 2

[Question ID = 4610][Question Description = Q29_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17903]
2. 2 [Option ID = 17904]
3. 3 [Option ID = 17905]
4. 4 [Option ID = 17906]

22) Given below are two statements :

Statement | : An informal fallacy is one that may be identified through mere inspection of the form or structure of an
argument.

Statement Il : Formal fallacy is one that can be detected only through analysis of the content of the argument.

In the light of the above statements, Choose the most appropriate answer from the options given below :



(1) Both Statement | and Statement |l are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

Fr 31 Fom fau o 2

=91 (I) : SAETF FearaTE 98 2 ue 3 9% % w=ey sya 99 & e 5m 3 i
o =1 T 2

ECENINE AT FeaTaE 9F B el useE 9% i favg-weg % fageww oo @ iown
AT 21

SR HUF & A H, S 50 e el § 6 med U S o 99 i

(1) FE (1) 3R (1) 241 =8t 3
@) FoA (1) 3% (ID) 31 T E
(3)  FeF (I)FA =, @i waA (1) e ©
4)  FA (1) e 2, @ w5 D) 79 R

[Question ID = 4611][Question Description = Q30_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17907]
2. 2 [Option ID = 17908]
3. 3 [Option ID = 17909]
4. 4 [Option ID = 17910]

23) Which of the following statements about blogs in network communication is True?

(1) The content of a blog can be edited by anyone. (2) A blog is a synchronous communication system that allows people

to chat in real-time.
(3) A blog consists of posts in reverse chronological order. (4) A blog is a history of web pages that you have visited,
maintained by an ISP.

J29% HEW H, 540 % ®0 § [EEa § 3 FE-91 F99 "5em 27

(1) == i wmwft =t =i o Gieg F g 2l
(2) = U GHEE G GO 2 S ST 1 qead Ga1g S gl ugHE #al 2|

(3) == % Wz fAaudiE Frews J B 2
(4) = UH A% YT A SR AT 2 O S g R TR fore srem sTsuedt ® w2

[Question ID = 4612][Question Description = Q31_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17911]
2. 2 [Option ID = 17912]
3. 3 [Option ID = 17913]
4. 4 [Option ID = 17914]

24) Identify the correct order of the following INTEL processors in the increasing order of speed.
(A) 80486

(B) 8085

(C) Dual Core

(D) Pentium-llI

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)  (2) (B), (A), (D), (C)
(3) (A), (B), (D), (C)  (4) (A), (C), (D), (B)

2 F AT UIHER W 3 a7 % wE H saeyd Hirau

(A) 80486

(B) 8085
(C) 3% w7
(D)  tfeEm-III

Hre fou v famedt | 9@ wE S w1 9o Fie




(1) (A). (B), (C). (D)
(2)  (B). (A). (D). (C)
(3) (A, (B). (D). (C)
4) (A (O). (D). (B)

[Question ID = 4613][Question Description = Q32_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17915]
2. 2 [Option ID = 17916]
3. 3 [Option ID = 17917]
4. 4 [Option ID = 17918]

25) Given below are two statements :

Statement | : Bus, Ring, Star, and Mesh are types of network protocols.

Statement Il : A short-range radio communication standard that transmits data over short distances upto approximately 30
feet is known as Bluetooth.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

et 31 o fqg e #

=949 (D) a4, To1, wr Wi 59 Sead deEE % TF B

Fo (1) : e 30 B2 9% i i 2 mfed # A widis ifeg gAn F osegy + €9 A

AT A R

ITIF T F AT H, = 20 0 EEeT 8§ | "E 39 % =999 A

(1) = (T) 3 (1) 31 @ 2

(2) = (I) 3 (D) 3T weed &

(3)  FeA (1) U B, 9w (1) FET 2
(4) = (1) 3@ 2, w9 (1) 903 2

[Question ID = 4614][Question Description = Q33_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17919]
2. 2 [Option ID = 17920]
3. 3 [Option ID = 17921]
4. 4 [Option ID = 17922]

26) Which of the following group of statements in the context of Information Technology (IT) is correct?
(A) Mouse, Keyboard, and Plotter are all input devices.

(B) Unix, Windows, and Linux are all operating systems.

(C) Register, Cache Memory, and Hard Disk are all memory modules.

(D) Montior, Printer, and Scanner are all output devices.

Choose the correct answer from the options given below :

(1) (A) and (B) only  (2) (A) and (D) only

(3) (C) and (D) only  (4) (B) and (C) only
g1 i % ofer |, FeifEs § 8 - 9w aE wd v
(A) mrEm, Fr-A12 30 =T Y2 I F
(B) FHE, T R fomem s faen 3

(D) wifqer, et 37 ¥t ameeye U 2|



= f2v U faweT § | wE 39 R =9 Fi

(1) Ad (A) 57 (B)
(2)  =F&EA (A) 317 (D)
(3) A= (C) #Hi (D)

(4  Fad (B) 3R (C)

[Question ID = 4615][Question Description = Q34_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17923]
2. 2 [Option ID = 17924]
3. 3 [Option ID = 17925]
4. 4 [Option ID = 17926]

27) Match List | with List Il

List 1  Listll

(Computer Terms) (Description)

(A) Processor  (I) Part that runs executable programs

(B) RAM  (ll) Part that stores files permanently

(C) Hard Disk  (lll) Part that stores instructions and data temporarily for use
(D) Compiler  (IV) Part that translates source program to executable program
Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(l, (C)-(1), (D)-(IV)  (2) (A)-(IV), (B)-(ll), (C)-(II), (D)-(1)
(3) (A)-(I), (B)-(D), (C)-(1D), (D)-(IV)  (4) (A)-(1), (B)-(Il), (C)-(IV), (D)-(llT)

g1 = gy g=it-11 =1 faem fifse
Gt FII
(A) TEE (1) uFsREe T S FAETE f
(B) 1§ (A1) ETSE! F TP T W =R wEEE B
(C) == s (IIT) HFEa % S21 =1 I9= = oy, serf =9
(D) =TEen (IV) = T il TS T w5

Ji=t fou o fasei @ | W 3T o == it

(1) (A)-(T). (B)-(IIL). (C)-(IT), (D)-(IV)

(2) (A)-IV), (B)-(III). (C)-(IT), (D)-(I)

(3) (A)-(IT), (B)-(I). (C)-(I1T), (D)-(IV)

(1) (A)-(T). (B)-(IT). (C)-(IV), (D)-(I1IT)
[Question ID = 4616][Question Description = Q35_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17927]
2. 2 [Option ID = 17928]

3. 3 [Option ID = 17929]
4. 4 [Option ID = 17930]

28) A coal fired thermal power plant has an efficiency of 35%. The electricity from the power plant is used entirely for
lighting purposes with average efficiency of 20%. What is the overall efficiency of conversion form coal to lighting?

(1) 15%  (2) 55%
(3)70%  (4) 7%

UF FEAT-ANG A T99 6 2@ 35% 2| fEm wmm i ot e w5 sua 20% i sied gam

F WY THEEET % TS H B 2| FiEE % T § ST S o6y 26 39 27

(1) 15% (2) 55%



[Question ID = 4617][Question Description = Q36_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17931]
2. 2 [Option ID = 17932]
3. 3 [Option ID = 17933]
4. 4 [Option ID = 17934]

29) As per Sustainable Development Goal 3, one of the targets is to reduce under-5 mortality per 1000 live births to at
least as low as

(1) 50  (2) 40

(3) 25>  (4) 15

HoToiE fE @eT-3 % AR, TF @5 9ia 1000 Sfifaw TES W 5 99 ® FH 35 % s A geast wW
HZR HH © A TR e S B 7

(1) 50 (2) 40
(3) 25 (4 15

[Question ID = 4619][Question Description = Q38_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17939]
2. 2 [Option ID = 17940]
3. 3 [Option ID = 17941]
4. 4 [Option ID = 17942]

30) In a polluted urban area, which of the following constituents of photochemical smog has the least concentration (parts
per billion by volume)?

(1) CO Carbon monoxide (2) Nitrogen dioxide
(3) Hydrocarbons (without methane) (4) Ozone

T WEA & W, UZI-THIEA A 1 FH A1 6eF HAH FH AT (SEAF # A 5 B H 579) F = a7

(1)  CO =F1s4 dFaTFEs (2) AEZEA SRR

P

(3)  wEsEEd (fRaiE) (4) FEH

[Question ID = 4620][Question Description = Q39_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17943]
2. 2 [Option ID = 17944]
3. 3 [Option ID = 17945]
4. 4 [Option ID = 17946]

31) For drinking and irrigation purposes, the availability of suitable water out of earth’s total water supplies is about less
than

(1) 1% (2) 5%
(3) 6%  (4) 10%

T iR T e 2, 9 S Fe Fei ¥ § S e i Ivee #

(1) 1% (2) 5%
(3) 6% 4) 10%

[Question ID = 4621][Question Description = Q40_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17947]
2. 2 [Option ID = 17948]
3. 3 [Option ID = 17949]
4. 4 [Option ID = 17950]

32) The Indian council of Social Science Research was established for :
(A) strengthening different disciplines

(B) promoting researches in social science

(C) enhancing quality of social science as a discipline

(D) providing a platform for discussion on social scientists’ concerns

(E) supporting seminars and conferences organized by Universities
Choose the correct answer from the options given below :

(1) (A) and (C) only  (2) (B) and (C) only
(3) (A) and (B) only  (4) (B) and (D) only

s T fame aEe afeg i s 5 o




{A) i"j 3:|\ = ﬁ“ﬂ@h % L3k E'_‘F = T %ﬂ

(B)  =9TH EEE § sEaH & "#agd B

(C) s faen = &9 ¥ guvs fage =i qoren #1 GagT FH g

(D) =T e F e # o m=m auemd w0 R

(E)  Tavataememi g siEiisa gmiieal S a1 #1 g5&@al 926 #4 2d

Hr= fzu o fasedi © @ wE1 SR R =EA Hifaw

(1) =39 (A) 3 (C)

(2)  =as (B) i (C)

(3)  FAd (A) # (B)

(4)  =as (B) 31t (D)
[Question ID = 4622][Question Description = Q41_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17951]
2. 2 [Option ID = 17952]

3. 3 [Option ID = 17953]
4. 4 [Option ID = 17954]

33) The first regulatory body in higher education in India was set up under the rubric of :

(1)UGC  (2) MCI
(3) BCl  (4) AICTE
aRA ¥ 3= oTE et v EnE e s R steeta i s Y

(1)  Tava T sem amm (2) wEHIAE
(3) =R (4) uHTEHEE

[Question ID = 4623][Question Description = Q42_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17955]
2. 2 [Option ID = 17956]
3. 3 [Option ID = 17957]
4. 4 [Option ID = 17958]

34) Who among the following was the Chairman of University Education Commission (1948)?

(1) Dr. D.S. Kothari  (2) Maulana Abul Kalam Azad
(3) Dr. Zakir Hussain  (4) Dr. S. Radhakrishnan

forvafereem faw s (1948) =1 s1ea8 He=rtea 5 ° == o7
(1) = & vm. Fed (2) TIEMT 9EE FeH AR
(3) =T A (4) =1 T TEFEIH

[Question ID = 4624][Question Description = Q43_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17959]
2. 2 [Option ID = 17960]
3. 3 [Option ID = 17961]
4. 4 [Option ID = 17962]

35) For maintenance of standards of teaching examination and research and coordination of University Education which of
the following section of UGC act should be referred to?

(1) Section 28  (2) Section 25
(3) Section 15  (4) Section 12

frrafraem smEm wmEm atafem i ot 5 8 g = et fen 5 feae, e,
(1) o 28 (2) 9T 25
(3) 9mi1s (4) W12



[Question ID = 4625][Question Description = Q44_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17963]
2. 2 [Option ID = 17964]
3. 3 [Option ID = 17965]
4. 4 [Option ID = 17966]

36) The NEP 2020 prioritises the increase in the GER in preschool to secondary level by 100% by the year
(1) 2025 (2) 2030
(3) 2035  (4) 2040

7% foe fifa-2020 ¥, FEeE-3 W WeAS T W S S AW H 100% g 7 w7 B ad 9% F A

TR

(1) 2025 (2) 2030
(3) 2035 (4) 2040

[Question ID = 4626][Question Description = Q45_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17967]
2. 2 [Option ID = 17968]
3. 3 [Option ID = 17969]
4. 4 [Option ID = 17970]

37) Which fallacy 1= committed in the argument — “Sound 1s a quality because it 1s visible™?
(1) Asryasiddha (2) Vyapyatvasiddha
(3) Svarupasiddha (4) Sadhyasiddha
e T O 2 FEIF T2 EAE 27 F9T T -0 2o B
(1)  smamEtag (2) =AHETHG
(3)  TawdIiHg (4) g

[Question ID = 4627][Question Description = Q26_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17971]
2. 2 [Option ID = 17972]
3. 3 [Option ID = 17973]
4. 4 [Option ID = 17974]

38 : : : i 2 :
) Which kind of inference 1z illustrated when one argues that sound must be a quality becauze

it cannot be a substance or an activity or a relation and so on?

(1) $es§vata (2) Purvavata
(3) Samanyaodrsta (4 Both Purvavata and Samanyatodrsta
el U T B I qE U2 SuEn A WYET geY S9E F9 3 6 8 gl & a9 § e TR

AT =ATEAT 7 7

5§ r

(1) RIECC (2) ==
(3)  wEEEEE (4) YEEA T AEEEAGE 2

[Question ID = 4628][Question Description = Q27_GP_21NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 17975]
2. 2 [Option ID = 17976]
3. 3 [Option ID = 17977]
4. 4 [Option ID = 17978]

39)  Under which of the following conditions an inference may be categorized as Kevalanvayi ?
(1) When it 1= based on middle term which is only pozitively related to the major term
(2) When it 1s based on middle term which is only negatively related to the major term

(3) When it 1s based on middle term which 1s both positively and negatively related to the
major term

(4) When middle term and major term have the relationship of identity (tadatmaya)
between them
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[Question ID = 4629][Question Description = Q28_GP_21NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 17979]

2. 2 [Option ID = 17980]

3. 3 [Option ID = 17981]
4. 4 [Option ID = 17982]

40) Tidal range (R) ie a critical factor in determining whether an estuary would be useful for

tidal power generation as energy (E) available per tidal cycle depends on scales with R as

according to the following relation :

() ExR (2) Ex R”
(3) E = R’ (4 E « R?

AN T9EA 999 70 SARAaEE I 2F S99 76, 39 R § SaEE T (W) T TRy wE

T 2 i T aR-= a1 (E) i suersgar FEied % 3980 R 1 =g W e e

1) E=«R () E« r%

{3}) E = R! {4) E = R3

[Question ID = 4630][Question Description = Q37_GP_21NOV_S2_SHAAN_Shift2]
1 [Option ID = 17983]
2 [Option ID = 17984]
3 [Option ID = 17985]
4 [Option ID = 17986]

A w N =

Topic:- GP_Set4_C

1) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

What is the main determinant of time allocation in cooperative learning?

(1) Time devoted to group work (2) Time devoted to all groups
(3) Time devoted to presentation of reports (4) Complexity and the number of tasks involved
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[Question ID = 4631][Question Description = Q46_GP_21NOV_S2_SHAAN_Shift2]
1. 1
[Option ID = 17987]
2. 2
[Option ID = 17988]
3.3

[Option ID = 17989]
4. 4

[Option ID = 17990]

2) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

What can disrupt group work?

(1) Difficulty of task  (2) A whole class discussion
(3) Discussions which involve emotions  (4) Arguments on various points
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[Question ID = 4632][Question Description = Q47_GP_21NOV_S2_SHAAN_Shift2]
1. 1
[Option ID = 17991]
2. 2
[Option ID = 17992]
3.3

[Option ID = 17993]
4. 4

[Option ID = 17994]

3) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

A major chunk of time in cooperative learning is devoted to which of the following?

(1) Individual group presentation  (2) Whole class discussion
(3) Individual group work  (4) Debriefing
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[Question ID = 4633][Question Description = Q48_GP_21NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 17995]
2.2

[Option ID = 17996]
3.3

[Option ID = 17997]
4. 4

[Option ID = 17998]

4) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

The members of cooperative learning team should be given enough time to

(1) reflect  (2) discuss
(3) ask questions  (4) present new ideas
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[Question ID = 4634][Question Description = Q49_GP_21NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 17999]
2.2

[Option ID = 18000]
3.3

[Option ID = 18001]
4. 4

[Option ID = 18002]

5) Read the passage carefully and answer the question that follow:

How much time should you allot for group work? It depends on task complexity, but you must make some more refined
estimates as well. You need to determine the time to devote to group work and time to devote to all groups coming
together to share their contributions. This latter time may be used for group reports, a whole-class discussion, debriefing to
relate the work experiences of each group to the end product, or some combination of these tasks. Group work can easily
get out of hand in the excitement, controversy, and natural dialogue that can come from passionate discussion. This
possibility requires you to place limits on each stage of the cooperative learning activity, so one stage does not take time
from another and leave the task disjointed and incomplete in your learners’ minds. Most time naturally will be devoted to
the work of individual groups, during which the major portion of the end product will be completed. Individual group work
normally will consume 60% to 80% of the time devoted to the cooperative learning activity. The remaining time must be
divided among individual group presentations and/or whole class discussion and debriefing that places the group work into
the perspective of a single end product. If you plan both group reports and whole class discussion for the same day, be
aware that the discussion probably will get squeezed into a fraction of the time required to make it meaningful. To avoid
this, the group discussion or debriefing for the following class day may be so scheduled so that class members have ample
time to reflect on their group reports and to pull together their own thoughts about the colloborative process, which may or
may not have occured as intended. Providing 15 or 20 minutes at the begining of class the next day is usually enough time
for students to have acquired the proper distance to reflect meaningfully on their experiences of the day before-and to
learn from them.

The most appropriate caption for the passage will be :

(1) Guidelines for cooperative learning (2) Procedure for cooperative learning
(3) Precaution in the conduct of cooperative learning  (4) Limitations of cooperative learning
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[Question ID = 4635][Question Description = Q50_GP_21NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 18003]
2.2

[Option ID = 18004]
3.3

[Option ID = 18005]
4. 4

[Option ID = 18006]






